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Time : 2 Hours       Max. Marks: 100  

 

 

 

ITI Paper -2 (Book Keeping)  

(Objective Type) (Without Books)  

9th  September, 2025 (Shift 2 – 2.30 PM to 4.30 PM) 

 

 

 

 

Important Instructions: All questions carry one mark each. For every 

incorrect attempt 1/8th mark shall be deducted. In case of any doubt, the 

English version may be taken as authentic. Wherever Assessment Year is 

not given, it may be taken as A.Y. 2025-26. In case of doubt in respect of 

the answer, choose the most appropriate option for the given question. 
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1.  In case the drawer of the bill requires urgent funds and cannot wait till the due date 

and presents it to the bank, it is called 

 

a) Retirement of bill 

b) Dishonouring of bill 

c) Discounting of bill 

d) Endorsement of bill 

 

;fn fcy ds ys[kkiky dks rRdky gh QaM dh vko’;drk iM+rh gS 

vkSj og ns; frfFk rd izrh{kk ugha dj ikrk rFkk og cSad dks 

bls izLrqr dj nsrk] rks bls D;k dgk tkrk gS & 

 

a) fcy dh fuo`fŸk 

b) fcy dh vLohd`fr 

c) fcy dh NwV 

d) fcy dk i`”Bk¡Xu 

 

2.  When an entry is made simultaneously both on debit side and credit side of the 

cash book it is called 

 

a) Double Entry 

b) Compound Entry 

c) Contra Entry 

d) None of the above 

 

tc jksdM+ cgh ¼dS’k cqd½ ds fudklh ,oa tek nksuksa rjQ ,d 

lkFk izfof”V dh tkrh gS rks bls D;k dgk tkrk gS\ 

 

a) nksgjh izfof”V 

b) fefJr izfof”V 

c) fojks/kkRed izfof”V 

d) mijksDr esa ls dksbZ ugha 

 

3.  The Bank Passbook shows a debit balance of Rs 25,000. A cheque of Rs 4,000 has 

been deposited by a debtor directly into the bank account. The balance as per cash 

book is  

a) Debit balance of Rs 29,000 

b) Credit balance of Rs 29,000 

c) Credit balance of Rs 21,000 

d) Debit balance of Rs 21,000 

 

cSad ikl cqd esa ¼fudklh ‘ks”k½ :- 25]000@& fn[kkbZ ns jgk gSA 

,d _.kh }kjk :- 4]000@& dk psd cSad [kkrs esa lh/ks tek 

dj fd;k tkrk gSA jksdM+ cgh ¼dS’k cqd½ ds vuqlkj ‘ks”k jkf’k 

D;k gS\ 

 

a) :- 29]000@& dh ukes ‘ks”k ¼fudklh ‘ks”k½ 
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b) :- 29]000@& dh tek ‘ks”k 

c) :- 21]000@& dh tek ‘ks”k 

d) :- 21]000@& dh ukes ‘ks”k 

 

4.  Mr. A draws a bill on Mr B for Rs 2,50,000 for 3 months. At the end of 3 months a 

sum of Rs 1,50,000 is paid and a fresh bill drawn payable at 12% pa interest after 

two months. It will appear in the books of  Mr A as 

 

a) Bills Receivable for Rs 1,02,000 

b) Bills Receivable for Rs 1,00,000 

c) Bills Receivable for Rs    98,000 

d) None of the above 

 

Jh A us :- 2]50]000@& dk fcy Jh B ij 3 ekg ds fy, 
tkjh fd;kA 3 eghus ds var esa :- 1]50]000@& dh jkf’k dk 

Hkqxrku fd;k tkrk gS vkSj ,d u;k fcy tkjh fd;k tkrk gS] 

ftlesa nks ekg ds ckn] 12 izfr’kr izfr o”kZ dh nj ls C;kt 

ns; gksxkA ;g Jh A dh jksdM+ cgh ¼dS’k cqd½ esa dSls iznf’kZr 

gksxk\ 

 

a) :- 1]02]000@& izkI; fcy 

b) :- 1]00]000@& izkI; fcy 

c) :- 98]000@& izkI; fcy  

d) mijksDr esa ls dksbZ ugha  

 

5.  A three columnar cash book has the following columns 

 

a) Cash, Bank and Ledger Folio 

b) Cash , Bank and Contra Entry 

c) Cash, Bank and Discount 

d) None of the above 

 

rhu dkWyeksa okyh jksdM+ cgh esa fuEufyf[kr dkWye gksrs gSa& 

 

a) dS’k] cSad rFkk [kkrk iUuk 

b) dS’k] cSad rFkk izfrizfof”V 

c) dS’k] cSad rFkk NwV 

d) mijksDr esa ls dksbZ ugha 

 

6.  Which of the following will not require an adjustment in the pass book? 

 

a) Cash realizations from debtors 

b) Cash payments to creditors 

c) Cash discounts given  

d) All of the above 

 

fuEufyf[kr esa ls fdls ikl cqd esa lek;ksftr djus dh 

vko’;drk ugha gksrh& 
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a) _.kh ls jksdM+ olwyh 

b) ysunkj dks jksdM+ dk Hkqxrku 

c) nh xbZ jksdM+ NwV 

d) mijksDr lHkh 

 

7.  When cheque received from customers but not deposited into bank account on the 

same day, it is entered in the cash book in the  

 

a) Debit side of cash column     

b) Credit side of cash column  

c) Both debit and credit side of cash column 

d) Debit side of bank column 

 

xzkgd ls psd izkIr fd, tkus ij tc bls mlh fnu cSad esa 

tek ugha fd;k tkrk gS rks jksdM+ cgh ¼dS’k cqd½ esa bldh 

izfof”V dSls gksrh gS\ 

 

a) jksdM+ dkWye ds ukes i{k dh vksj 

b) jksdM+ dkWye ds tek i{k dh vksj 

c) jksdM+ dkWye ds ukes i{k vkSj tek i{k nksuksa vksj 

d) cSad dkWye ds ukes ¼fudklh½ i{k dh vksj 

 

8.  Which of the following is a key feature of financial accounting? 

 

   a) It focuses on cost analysis for internal decision-making   

   b) It records transactions as per generally accepted accounting principles. 

   c) It is only concerned with tax calculation   

   d) It ignores financial reporting for external stakeholders 

 

fuEufyf[kr esa ls dkSu foRrh; ys[kkadu dh izeq[k fo’ks”krk gS\ 

 
a) ;g vkarfjd fu.kZ; ysus ds fy, ykxr fo’ys”k.k ij 

dasfnzr gSA 

b) ;g lkekU;r% Lohd`r ys[kkadu fl)karksa ds vuqlkj 

ysunsu dks fjdkWMZ djrk gSA 

c) ;g dsoy dj x.kuk ls lacaf/kr gSA 

d) ;g ckgjh fgr/kkjdksa ds fy, foRrh; fjiksfVZax dh mis{kk 

djrk gSA 

 

9.  A bill of Rs.250000/- was discounted with banker by Saraswat for Rs.245000/-. At 

maturity, the bill returned as dishonoured and Rs.5000/- paid as noting charges. 

How much money will be deducted from Saraswat bank account at the time of 

such dishonour? 

 

a) Rs.2,40,000/-      

b) Rs.2,45,000/-   
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c) Rs.2,50,000/-     

d) Rs.2,55,000/- 

 

:- 2]50]000@& ds fcy dks cSadj ds ikl NwV nsdj lkjkLor 

}kjk :- 2]45]000@& dk fd;k tkrk gSA ifjiDo gksus ij] fcy 

vLohd`r gksus ds dkj.k okil dj fn;k tkrk gS vkSj         

:- 5]000@& uksfVax pktZ ds :i esa vnk fd, tkrs gSaA ,slh 

vLohd`fr ds le; lkjLor cSad ds [kkrs ls fdruh jkf’k dkVh 

tk,xh\ 

 

a) :- 2]40]000@&  

b) :- 2]45]000@& 

c) :- 2]50]000@& 

d) :- 2]55]000@& 

 

10.  What does ‘retiring a bill under rebate’ mean?  

 

a) Making a payment of the bill before the due date  

b) Dishonouring of a bill  

c) Making a payment of the bill after the due date  

d) All of the above 

 

^^cV~Vs ij fcy dk iwoZ Hkqxrku** dk D;k vFkZ gS\ 

 

a) ns; frfFk lss igys fcy dk Hkqxrku djuk 

b) fcy dk vLohdj.k 

c) ns; frfFk ds ckn fcy dk Hkqxrku djuk 

d) mijksDr lHkh 

11.  
Endorsement of bill means:? 

a) Transfer of right on the bill from the drawee to the creditors  

b) Transfer of right on the bill from the creditors to the drawee 

c) Transfer of right on the bill from the creditors to the drawer 

d) Transfer of right on the bill from the drawer to the creditor 

 

fcy ds i`”Bkadu ls D;k vfHkizk; gS\ 

 

a) vnkdrkZvksa ls _.knkrkvksa dks fcy ds vf/kdkj dk 

gLrkarj.k 

b) _.knkrkvkssa ls vnkdrkZvksa dks fcy ds vf/kdkj dk 

gLrkarj.k 

c) _.knkrkvkssa ls vkgj.kdrkZ dks fcy ds vf/kdkj dk 

gLrkarj.k 

d) vkgj.kdrkZ ls _.knkrk dks fcy ds vf/kdkj dk 

gLrkarj.k 
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12.  
PǪR Ltd. accepted a bill of exchange worth Rs. 50,000 on March 1, payable after 3 

months. On due date, the bill was dishonored. How will the dishonor of the bill be 

recorded in the books of the acceptor? 

a) Debit Bills Payable A/c and Credit Cash A/c  

b) Debit Bills Receivable A/c and Credit Debtor A/c 

c) Debit Creditor A/c and Credit Bills Payable A/c 

d) Debit Creditor A/c and Credit Bank A/c 

 

PQR fyfeVsM us :- 50]000@& ewY; dk ,d fofue; i= 

fnukad 01 ekpZ dks Lohdkj fd;k tks rhu eghuksa ds ckn ns; 

FkkA ns; frfFk ij] fcy dks vLohdkj dj fn;k x;kA izkIrdrkZ ds 

ys[kk esa] fcy dh bl vLohdk;Zrk dks dSls ntZ fd;k tk,xk\ 

 

a) Hkqxrku ;ksX; fcy ys[kk dks MsfcV rFkk jksdM+ ys[kk dks 

dszfMV  

b) izkI; fcy [kkrk MsfcV rFkk _f.k [kkrk dszfMV 

c) _.knkrk [kkrk MsfcV rFkk Hkqxrku ;ksX; fcy [kkrk 

dszfMV 

d) _.knkrk [kkrk MsfcV rFkk cSad [kkrk dzsfMV 

 

13.  GHI Ltd. issued a bill for Rs. 30,000 to a customer, payable after 60 days. After 30 

days, GHI Ltd. discounted the bill with the bank at a discount rate of 10% p.a. What is 

the discount amount? 

a) Rs. 250 

b)  Rs. 500 

c) Rs. 1,000 

d) Rs. 1,500 

 

GHI fyfeVsM us ,d xzkgd dks :- 30]000@& dk ,d fcy tkjh 

fd;k tks 60 fnu ckn ns; FkkA 30 fnuksa ds i'pkr~ GHI fyfeVsM 
us cSad ds lkFk bl fcy ij 10 izfr’kr izfro”kZ dh nj ls NwV 

iznku dhA NwV dh jkf’k fdruh gksxh\ 

 

a) :- 250@& 

b) :- 500@& 

c) :- 1]000@& 

d) :- 1]500@& 

 

14.  
A company issued a post-dated cheque. How will it be recorded? 

a) As a liability 

b) As an asset 

c) As an expense 
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d) It will not be recorded until the date on the cheque 

 

,d daiuh us ,d mRrj& fnukafdr psd tkjh fd;kA bls fdl 

rjg ls ntZ fd;k tk,xk\ 

 

a) nsunkjh dh rjg 

b) ifjlaifRr dh rjg 

c) [kpsZ dh rjg 

d) ;g psd ij mfYyf[kr frfFk rd ntZ ugha fd;k tk,xk 

 

15.  When a bank debits the account for interest on an overdraft, what should be the 

accounting entry? 

a) Debit Interest Expense and Credit Bank Account 

b) Debit Bank Account and Credit Interest Income 

c) Debit Overdraft Account and Credit Interest Expense 

d) Debit Interest Payable and Credit Bank Account 

 

tc dksbZ cSad vksoj Mªk¶V ij C;kt ds fy, [kkrs dks MsfcV djrk 

gS rks ys[kkdj.k dh izfof”V D;k gksxh\ 

 

a) C;kt [kpZ MsfcV rFkk cSad [kkrk dszfMV 

b) cSad [kkrk MsfcV rFkk C;kt ls vk; dk dzsfMV 

c) vksojMªk¶V [kkrk MsfcV rFkk C;kt [kpZ dszfMV 

d) ns; C;kt MsfcV rFkk cSad [kkrk dszfMV 

 

16.  Which of the following transactions would require an adjusting entry? 

 

a) Issuing shares for cash 

b) Purchasing equipment for cash 

c) Providing services on account 

d) Accrued salaries at the end of the month 

 

fuEu esa ls fdl rjg ds ysu&nsu ds fy, lek;kstd izfof”V dh 

t:jr gksxh\ 

 

a) udn jkf’k ds fy, ‘ks;j tkjh djuk 

b) udn jkf’k ds fy, miLdj [kjhnuk 

c) [kkrs ij lqfo/kk,a eqgS;k djokuk 

d) eghus ds var esa izksn~Hkwr osru 

 

17.  If a company forgets to record an adjusting entry for accrued revenue, what will be 

the impact on financial statements: 

 

a) Assets will be understated 

b) Liabilities will be overstated 
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c) Expenses will be understated 

d) Equity will be overstated 

 

;fn dksbZ daiuh izksn~Hkwr jktLo ds fy, izfof”V ntZ djuk Hkwy 

tkrh gS rks bldk foRrh; fooj.k ij D;k vlj gksxk\ 

 

a) ifjlaifRr;ka vofyf[kr gks tk,axhA 

b) nsunkjh vf/kfyf[kr gks tk,axhA 

c) [kpZ vofyf[kr gks tk,axsA 

d) bfDoVh vf/kfyf[kr gks tk,axhA 

 

18.  Which of the following transaction requires a compound journal entry? 

 

a) Purchase of goods for cash 

b) Payment of rent in advance 

c) Sale of goods partly in cash and partly on credit 

d) Sale of goods in cash involving profit on sale 

 

fuEu esa ls fdl ysunsu ds fy, fefJr tuZy izfof”V pkfg,\ 

 

a) udn jkf’k ls oLrqvksa dh [kjhn 

b) fdjk;s dk vfxze Hkqxrku 

c) oLrqvksa dks va’kr% udn rFkk va’kr% dzsfMV ij cspuk 

d) oLrqvksa dks udn esa cspuk] ftlesa fcdzh ij equkQk 

‘kkfey gks 

 

19.  Which statement is correct about subsidiary ledgers? 

 

a) They contain summarized data for each transaction 

b) They include details of control accounts 

c) They replace the general ledger 

d) They only track capital expenses 

 

lgk;d [kkrs ds ckjs esa dkSu lk rF; lgh gS\ 

 

a) muesa izR;sd ysu&nsu ds fy, laf{kIr vkadM+s gksrs gSaA 

b) mueas fu;a=d [kkrksa dh tkudkjh gksrh gSA 

c) os lkekU; [kkrs dks izfrLFkkfir djrs gSaA 

d) os dsoy iwathxr O;; dks vuqjsf[kr djrs gSaA 

 

20.  Consider the following statements regarding the errors occurred while preparing 

the books of accounts.  

(i) Purchase of land for Rs. 30 lakhs were debited to the Purchases account. 

 (ii) Sale of old furniture for Rs. 1 lakh was credited to the sales account. 

(iii) Construction of an additional restroom to the existing building for Rs. 

5 lakhs were debited to the Repairs and Maintenance account. 
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(iv) Purchase of goods of Rs. 50000 from Mr. Raj was posted to the 

account of Mr. Ram.  

 

Which of the above errors are an example of error of principle? Choose the correct 

answer from the options given below. 

a) Only (i) and (ii)  

b) Only (i), (ii) and (iii)  

c) All (i), (ii), (iii) and (iv)  

d) Only (i)  

 

 Yks[kk iqLrdksa dks rS;kj djrs le; gqbZ =qfV;ksa ds laca/k esa 

fuEufyf[kr dFkuksa ij fopkj djsaA 

(i) 30 yk[k :Ik;s dh Hkwfe [kjhn dks Ø; [kkrs esa MsfcV 

fd;k x;kA 

(ii) iqjkus QuhZpj dh fcØh ds 1 yk[k :Ik;s fcØh [kkrs esa 

tek fd;s x;sA 

(iii) ekStwnk Hkou esa ,d vfrfjDr ‘kkSpky; ds fuekZ.k ds fy, 

5 yk[k :Ik;s dh jkf’k ejEer ,oa j[kj[kko [kkrs esa MsfcV 

dh xbZA 

(iv) Jh jkt ls :- 50]000@& dk eky [kjhnk x;k ftls Jh 

jke ds [kkrs esa tek fd;k x;kA 

mijksDr =qfV;ksa esa ls dkSu lh =qfV;kWa fl)kar =qfV dk mnkgj.k 

gS\ uhps fn, x, fodYiksa esa ls lgh mRrj pqfu,A 

 

a) dsoy (i)  vkSj (ii) 

b) dsoy (i), (ii)  vkSj (iii) 

c) lHkh (i), (ii) ,(iii) vkSj (iv) 

d) dsoy (i) 

 

21.  Stock worth Rs. 50,000 was destroyed by fire. The claim was fully accepted by the 

insurance company. The journal entry is  

 

a) Insurance claim A/c Dr. 50,000  

To Inventory A/c 50,000 

b) Cash A/c Dr. 50,000  

To Insurance claim A/c 50,000  

c) Purchases A/c Dr. 50,000  

To Insurance claim A/c 50,000  

d) Insurance claim A/c Dr. 50,000  

To Purchases A/c 50,000 

 

 

:- 50]000@& ds ewY; dk LVkWd vkx ls u”V gks x;kA chek 

daiuh }kjk bldk nkok iwjh rjg Lohdkj fd;k x;kA tuZy 

izfof”V bl izdkj gksxh% 
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a) chek nkok [kkrk MsfcV  50]000 

  50]000 lwph [kkrk ds ukes 

 

b) udnh [kkrk MsfcV   50]000 

  50]000 chek nkok [kkrs ds ukes 

 

c) dz; [kkrk MsfcV 50]000 

  50]000 chek nkok [kkrs ds ukes 

 

d) chek nkok [kkrk MsfcV 50]000 

  50]000 dz; [kkrs ds ukes 

 

22.  If goods are sent on sale or return basis, how it will be treated  _____: 

 

a) An ordinary sale and not recorded in the books  

b) An ordinary sale and recorded in the books as normal sale  

c) The goods are approved and no entry is passed in the books, however when 

goods are actually sold entry is recorded in books  

d) Recorded as normal sales however no  debtors or cash is simultaneously 

recorded until actual sale is made 

 

;fn eky dks fcdzh ;k okilh ds vk/kkj ij Hkstk tkrk gS] rks 

bls fdl ds :i esa ekuk tk,xk% 

a) ,d lk/kkj.k fcdzh rFkk cgh esa ntZ ugha fd;k tkrk 

b) ,d lk/kkj.k fcdzh rFkk cgh esa bls lkekU; fcdzh ds 

:i esa ntZ fd;k tk,xk 

c) Ekky vuqeksfnr gS rFkk cgh es dksbZ izfof”V ugha dh xbZ] 

rFkkfi tc eky dh okLrfod :i ls fcdzh gksxh rc 

cgh esa izfof”V ntZ dh tkrh gS 

d) lkekU; fcdzh ds :i esa ntZ fd;k tkrk gS] rFkkfi tc 

rd okLrfod fcdzh ugha gksrh rc rd dksbZ nsunkj ;k 

udnh lekukarj :i esa ntZ ugha dh tkrhA 

 

23.  What is the purpose of journalizing adjusting entries? 

 

a) To record transactions in chronological order 

b) To classify and summarize transactions 

c) To prepare financial statements 

d) To ensure accuracy and completeness of financial records 

 

lek;kstd izfof”V;ksa dk jkstukepk fy[kus dk D;k mn~ns’; gS\ 

 

a) ysu&nsu dks dykuqdzekuqlkj ntZ djus ds fy, 

b) ysu&nsu dks oxhZd`r rFkk laf{kIr djus ds fy, 

c) foRrh; fooj.k rS;kj djus ds fy, 

d) foRrh; vfHkys[kksa dh ‘kq)rk rFkk iw.kZrk lqfuf’pr djus 
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ds fy, 

 

24.  Vijay & Company Pvt. Ltd. issues 10,000 debentures of Rs. 100 each at a 10% 

premium. What is the journal entry for this transaction? 

 

a) Bank A/c Dr. 10,00,000 

To Debenture A/c 10,00,000 

b) Bank A/c Dr. 11,00,000 

To Debenture A/c 11,00,000 

c) Bank A/c Dr. 11,00,000 

To Debenture A/c 10,00,000 

To Securities Premium A/c 1,00,000 

d) Bank A/c Dr. 10,00,000 

Securities Premium A/c Dr. 1,00,000 

To Debenture A/c  11,00,000 

 

fot; ,aM daiuh izkbosV fyfeVsM] :- 100@& izR;sd dh nj ls 

10]000 fMcsapj 10 izfr’kr izhfe;e ij tkjh djrh gSA blds 

fy, tuZy izfof”V D;k gksxh\ 

 

a) cSad [kkrk MsfcV  10]00]000 

  10]00]000 fMcsapj [kkrk dks 

 

b) cSad [kkrk MsfcV 11]00]000 

  11]00]000 fMcsapj [kkrk dks 

 

c) cSad [kkrk MsfcV 11]00]000 

  10]00]000 fMcsapj [kkrs dks 

  1]00]000 izfrHkwfr izhfe;e dks 

 

d)  cSad [kkrk MsfcV 10]00]000 

   izfrHkwfr izhfe;e [kkrk MsfcV 1]00]000 

     11]00]000 fMcaspj [kkrs dks 

 

25.  Which of the following is the correct order of steps in the accounting cycle from 

the beginning of the period to the preparation of financial statements? 

 

a) Journalizing transactions, posting to the ledger, adjusting entries, preparing 

trial balance, analysis of the books of account, preparing financial 

statements. 

b) Posting to the ledger, adjusting entries, closing entries, preparing financial 

statements, preparing trial balance. 

c) Adjusting entries, trial balance, journalizing transactions, closing entries, 

financial statements. 

d) Journalizing transactions, posting to the ledger, adjusting entries, preparing 

trial balance, preparing financial statements. 
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fuEufyf[kr esa ls dkykof/k ds vkjaHk ls foRrh; fooj.k rS;kj 

djus rd ys[kk pdz ds fofHkUu pj.kksa dk lgh dze D;k gS\ 

 

a) ysu&nsu dk jkstukepk fy[kuk] [kkrs esa izfof”V] 

izfof”V;ksa dk lek;kstu] ‘ks”k ijh{k.k i= rS;kj djuk] 

[kkrk cgh dk fo’ys”k.k djuk] foRrh; fooj.k rS;kj 

djukA 

b) [kkrs esa izfof”V djuk] izfof”V;ksa dk lek;kstu djuk] 

vafre izfof”V;ka] foRrh; fooj.k rS;kj djuk] ‘ks”k 

ijh{k.k i= rS;kj djukA 

c) izfof"V;ksa dk lek;kstu djuk] ‘ks”k ijh{k.k i=] ysu&nsu 

dk jkstukepk fy[kuk] vafre izfof”V;ka] foRrh; fooj.kA 

d) ysu&nsu dk jkstukepk fy[kuk] [kkrs esa izfof”V djuk] 

izfof”V;ksa dk lek;kstu djuk] ‘ks”k ijh{k.k i= rS;kj 

djuk] foRrh; fooj.k rS;kj djukA 

 

26.  The Accounting Cycle refers to the process through which organisations –  

 

a) Identify and summarize financial transactions over a specific period 

b) Classify and summarize financial transactions over a specific period  

c) Identify, record, classify and summarize financial transactions over a 

specific period (usually a fiscal year or quarter)  

d) None of the above 

 

ys[kk pdz ml izfdz;k ls lacaf/kr gS] ftlds }kjk laxBu& 

 

a) ,d fof’k”V dkykof/k ds fy;s foRrh; ysu&nsu dks 

igpkurs rFkk laf{kIr djrs gSa 

b) ,d fof’k”V dkykof/k ds fy;s foRrh; ysu&nsu dks 

oxhZd`r rFkk laf{kIr djrs gSa 

c) ,d fof’k”V dkykof/k ¼lkekU;r% ,d foRrh; o”kZ ;k 

frekgh½ esa foRrh; ysu&nsu dks igpkurs] ntZ] oxhZd`r 

rFkk laf{kIr djrs gSa 

d) buesa ls dksbZ ugha 

 

27.  What are the objectives of preparing the Trial Balance? 

 

(i) To ascertain the arithmetical accuracy of the ledger accounts  

(ii) To help in locating errors  

(iii) To help in the preparation of the financial statements  

       (Trading and Profit  & Loss account and Balance Sheet) 

(iv) Used to check accuracy of cash flow statement balances 

 

a) Only (i),(iii) & (iv) are correct 

b) Only (i),(ii) & (iii) are correct  

c) Only (ii),(iii) & (iv) are correct  

d) Only (iv) is correct 
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‘ks”k ijh{k.k i= dks rS;kj djus ds D;k mn~ns’; gSa\ 

(i) [kkrk ys[kksa dh xf.krh; ‘kq)rk vfHkfuf’pr djus ds 

fy, 

(ii) xyfr;ksa dks irk yxkus esa lgk;rk ds fy,  

(iii) foRrh; fooj.k ¼O;kikj rFkk ykHk o gkfu [kkrk rFkk 

rqyu&i=½ rS;kj djus esa lgk;rk ds fy, 

(iv) udnh izokg fooj.k ‘ks”k dh lVhdrk dh tkap djus ds 

fy, mi;ksx fd;k tkrk gSA 

 

a) dsoy (i), (iii) rFkk (iv) lgh gaS  

b) dsoy (i), (ii) rFkk (iii) lgh gSa 

c) dsoy (ii), (iii) rFkk (iv) lgh gSa 
d) dsoy (iv) lgh gSa 

 

28.  Debts which are irrecoverable are called Bad Debts and is a loss to business.  The 

object of making Bad Debts provisions is to bring down the balance of sundry 

debtors to its true position, so that the ____________ may not exhibit 

______________ at more than their actual realisable values. Fill in the blanks: 

 

a) Profit & Loss account, Bad Debts 

b) Trading Account, Bad Debts 

c) Balance Sheet, Sundry Debtors 

d) None of the above 

 

volwyh; _.k Mwck _.k dgykrs gSa rFkk O;olk; ds fy, gkfu 

gksrs gSaA Mwck _.k izko/kkuksa dks cukus dk mn~ns’;] fofo/k _f.k;ksa 

ds ‘ks”k dks muds okLrfod fLFkrh ij ykuk gS] rkfd-------------- 

muds okLrfod olwyh;ksX; ewY; ls vf/kd --------------- iznf’kZr u 

djsA fjDr LFkku dh iwfrZ dhft,% 

 

a) ykHk ,oa gkfu [kkrk] Mwck _.k 

b) O;kikj [kkrk] Mwck _.k 

c) lesfdr rqyui=] fofo/k _.kh 

d) buesa ls dksbZ ugha 

 

29.  When the total of the debit and credit balances in a Trial Balance agrees, it can be 

assumed that both the aspects of all the transactions have been correctly posted in 

the ______________  from the ______________.  Fill in the blanks.  

 

a) Journal , Trial Balance 

b) Balance Sheet, Ledger 

c) Ledger, Journal 

d) Ledger, Trial Balance 

 

tc ,d ‘ks”k ijh{k.k i= esa dqy MsfcV rFkk dszfMV ‘ks”k dk 
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feyku gks tk,] rks ;g ekuk tk ldrk gS fd lHkh laO;ogkjksa 

ds nksuksa igyqvksa dks --------------------- ls --------------- esa lgh izfo”V 

fd;k x;k gSA fjDr LFkku dh iwfrZ dhft,A 

 

a) tuZy] ‘ks”k ijh{k.k i= 

b) lesfdr rqyui=] ystj 

c) ystj] tuZy 

d) ystj] ‘ks”k ijh{k.k i=  

 

30.  What will be the total value of closing stock if opening stock is ₹5,000, purchases 

₹25,000, and cost of goods sold ₹20,000? 

 

a) ₹10,000 

b) ₹15,000 

c) ₹5,000 

d) ₹20,000 

 

;fn izkjafHkd LVkWd :- 5]000@&] [kjhn :- 25]000@& rFkk 

fcdzh fd, x, eky dh ykxr :- 20]000@& gks] rks vafre 

LVkWd dk dqy ewY; D;k gksxk\ 

 

a) :- 10]000@& 

b) :- 15]000@& 

c) :- 5]000@& 

d) :- 20]000@& 

 

31.  If machinery is purchased for ₹1,00,000 and depreciation is charged @10% on 

WDV method, what is the book value after 2 years? 

 

a) ₹81,000 

b) ₹80,000 

c) ₹90,000 

d) ₹79,000 

 

;fn :- 1]00]000@& dh e’khujh dz; dh x;h vkSj MCyw-Mh-oh- 

i)fr ls ewY;gzkl 10 izfr’kr dh nj ls izHkk;Z gS] rks nks o”kZ 

ckn vafdr ewY; D;k gksxk\ 

 

a) :- 81]000@& 

b) :- 80]000@& 

c) :- 90]000@& 

d) :- 79]000@&  

 

32.  Bad debts of ₹12,000 written off, provision for doubtful debts is to be maintained 

at 5% on remaining debtors of ₹1,00,000. What is the required adjustment? 
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a) Provision A/c Dr. ₹5,000 To Bad Debts A/c ₹5,000 

b) Bad Debts A/c Dr. ₹12,000 To Debtors A/c ₹12,000 

c) Profit & Loss A/c Dr. ₹5,000 To Provision for Doubtful Debts A/c ₹5,000 

d) Provision for Doubtful Debts A/c Dr. ₹5,000 To Profit & Loss A/c ₹5,000 

 

:- 12]000@& ds Mwcr _.kksa dks cV~Vs [kkrs esa Mky fn;k x;k 

gS] :- 1]00]000@& ds ‘ks”k nsunkjksa ij lafnX/k _.kksa ds fy,  

5%  izko/kku j[kk tkuk gSA vko’;d lek;kstu D;k gS\  

a) izko/kku [kkrk uke :- 5]000@& v’kks/; _.k [kkrk esa 

:- 5]000@& 

b) v’kks/; _.k [kkrk uke :- 12]000@& nsunkj [kkrs esa 

:- 12]000@& 

c) ykHk&gkfu [kkrk uke :-5]000@& lafnX/k _.kksa ds fy, 

izko/kku [kkrk :- 5]000@& 

d) lafnX/k _.kksa ds fy, izko/kku [kkrk uke :- 5]000@& 

ykHk&gkfu [kkrs esa :- 5]000@& 

 

 

33.  Mrs. Sadhna works in a company M/s P. Salary paid to her by the company P  in 

cash during the current year was ₹30,000; Outstanding salary at the end of 

previous year was ₹2,000 and outstanding salary at the end of current year was 

₹3,000. Salary paid in advance during current year for next year was ₹2,600. The 

amount debited to Income and Expenditure Account will be: 

 

a) Rs. 33,600/- 

b) Rs. 26,400/- 

c) Rs. 31,600/- 

d) Rs. 28,400/- 

Jherh lk/kuk ,d daiuh P esa dk;Z djrh gSA daiuh }kjk mUgsa 
orZeku o”kZ ds nkSjku udn Hkqxrku fd;k x;k osru :0 

30]000@& Fkk( fiNys o”kZ dh lekfIRk ij cdk;k osru :0 

2000@& FkkA orZeku o”kZ dh lekfIr ij cdk;k osru :0  

3000@& FkkA orZeku o”kZ  ds nkSjku vxkeh o”kZ ds fy, vfxze 

:Ik esa Hkqxrku fd;k x;k osru :0 2]600@& FkkA vk; vkSj 

O;; [kkrs esa MsfcV xbZ jkf’k gksxh% 

 

a) :0 33]600@& 

b) :0 26]400@& 

c) :0 31]600@& 

d) :0 28]400@& 

 

34.  A Consignor allows del credere commission to  



Page 16 of 48 
 

 

1) Cover the Risk of Bad Debts 

2) Encourage the consignee to sell the goods at or above the specified rates 

3) Insure the goods against loss in transit 

4) Cover the risk of damage of goods while in the custody of the consignee 

 Which one of the above is true? 

 

a) Only (1) 

b) Only (1) & (2) 

c) Only (3) & (4) 

d) Only (2) 

 

,d ijs”kd fo’okl tekur deh’ku dh vuqefr fdlfy, nsrk 

gS\ 

1) v’kks/; _.k ds tksf[ke dh HkjikbZ gsrq 

2) ijsf”kfr dks& fofufnZ”V nj ;k mlls vf/kd ij eky 

fodz; djus gsrq izksRlkfgr djus ds fy, 

3) ikjxeu esa gksus okyh gkfu ds fo:) eky dk chek 

djus ds fy, 

4) ijsf”kfr dh vfHkj{kk esa eky dh {kfr ds tksf[ke dh 

HkjikbZ djus ds fy, 

mi;qZDr esa ls dkSu lk lgh gS\ 

 

a) dsoy (1) 

b) dsoy (1) vkSj (2) 

c) dsoy (3) vkSj (4) 

d) dsoy (2)  

 

35.  Which of the statement is not true about Carriage inward :-  

a) The expense of transportation for items that a business buys is known as 

carriage inwards.  

b) The term "carriage inwards" refers to the expense that is spent whenever a 

company receives incoming goods. 

c) It is an indirect expense that incurs to prepare the goods for sale 

d) Carriage inwards is usually payable on a variety of inputs and raw 

ingredients that the buyer purchases from manufacturing entities and also 

on final items purchased from trade companies.  

 

fuEufyf[kr esa ls dkSu lk dFku vkod xkM+h ds ckjs esa lR; 

ugha gSa%& 

 

a) fdlh O;olk; }kjk [kjhnh xbZ oLrqvksa ds ifjogu ds 

O;; dks dSfjt buokMZ~l dgk tkrk gSA 

b) ^^dSfjt buokM~Zl** ‘kCn ls rkRi;Z ml O;; ls gS tks 

fdlh daiuh }kjk vkus okys eky dks izkIr djus ij 
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fd;k tkrk gSA 

c) ;g ,d vizR;{k O;; gS tks eky dks fcØh ds fy, 

rS;kj djus esa gksrk gSA 

d) vkod eky <qykbZ vkerkSj ij fofHkUUk izdkj ds buiqV 

vkSj dPPks eky ij ns; gksrh gS] ftls Øsrk fofuekZ.k 

laLFkkvksa ls [kjhnrk gS] rFkk O;kikfjd daifu;ksa ls 

[kjhnh xbZ vafre oLrqvksa ij Hkh ns; gksrh gSA 

 

36.  A proprietor of a Business withdraws a cash of Rs. 1,00,000/- from his proprietary 

firm for personal use. He also pays Keyman’s Insurance Policy premium of Rs. 

30,000/-. He buys a Motor car of Rs. 15,00,000/- for the purpose of the business. 

He records these transactions in the Books of Account of the Firm. Which one of 

the following is a correct recording of transaction? 

 

a) Debiting Rs. 30,000/- to the P & L A/c as an expenditure 

b) Debiting Rs. 1,00,000/- to Cash Account 

c) Crediting Rs. 15,00,000/- to Motor Car A/c 

d) None of the above 

 

,d O;olk; dk Lokeh vius LokfeRo okyh QeZ ls O;fDrxr 

iz;ksx ds fy, :- 1]00]000@& dk vkgj.k djrk gSA og 

dh&eSu chek ikWfylh dh :- 30]000@& dh fdLr dk Hkqxrku 

Hkh djrk gSA og O;olk; ds iz;kstu gsrq :- 15]00]000@& dh 

eksVj dkj [kjhnrk gSA og ;s lHkh ysunsu QeZ dh [kkrk cgh esa 

ntZ djrk gSA fuEufyf[kr esa ls dkSu lk ysunsu ntZ djus dh 

lgh izfdz;k gS\ 

 

a) ykHk vkSj gkfu [kkrs ls :- 30]000@& O;; ds :i esa 

MsfcV djuk 

b) udn [kkrs ls :- 1]00]000@& MsfcV djuk 

c) eksVjdkj [kkrs esa :- 15]00]000@& dszfMV djuk 

d) mi;qZDr esa ls dksbZ ugha 

 

37.  Which of the following is correct?  

 

a) Cost of Goods Sold – Opening Stock + Purchases = Closing Stock  

b) Purchase + Cost of Goods Sold – Opening Stock = Closing Stock  

c) Cost of Goods Sold + Closing Stock – Opening Stock = Purchase  

d) Opening Stock + Closing Stock – Purchase = Cost of Goods sold 

 

fuEufyf[kr esa ls dkSu lk fodYi lgh gS\ 

 

a) fodzhr eky dh ykxr & izkjafHkd LVkWd $ dz; = vafre 
LVkWd  
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b) dz; $ fodzhr eky dh ykxr & izkjafHkd LVkWd = vafre 
LVkWd 

c) fodzhr eky dh ykxr $ vafre LVkWd & izkjafHkd LVkWd 

= dz; 

d) izkjafHkd LVkWd $ vafre LVkWd & dz; = fodzhr eky dh 
ykxr  

 

38.  Mr. A starts a business with Rs. 80,000/-  And then buys goods from Mr. B on 

credit for Rs. 50,000/- accounting equation will be 

a) 1,30,000 = 80,000 + 50,000 

b) 30,000 = 80,000 – 50,000 

c) 80,000 = 50,000 + 30,000 

d) 50,000 = 80,000 – 30,000 

 

Jh A :- 80]000@& ds lkFk ,d O;olk; ‘kq: djrs gSa vkSj 

fQj Jh B  ls : 50]000@& dk eky m/kkj [kjhnrs gSa] 

ys[kkadu lehdj.k gksxk 

 

a) 1,30,000 = 80,000 + 50,000 

b) 30,000 = 80,000 – 50,000 

c) 80,000 = 50,000 + 30,000 

d) 50,000 = 80,000 – 30,000 

 

39.  Expenditure incurred in formation of a New Company is a  

 

a) Capital Expenditure 

b) Revenue Expenditure 

c) Capital Asset 

d) Deferred Revenue Expenditure 

 

,d ubZ daiuh ds xBu ds fy;s gqvk O;; D;k gS\ 

 

a) iawthxr O;; 

b) jktLo O;; 

c) iwathxr vkfLr 

d) vkLFkfxr jktLo O;; 

 

40.  In a Receipt and Payment Account, the amount of payment on account of Wages 

appears at Rs. 12,51,000/-. The Outstanding Wages at the beginning of the year 

and the end of the year are Rs. 27,500/- and Rs. 12,500/-, respectively. What 

amount will appear in the related Income and Expenditure Account? 

 

a) Rs. 12,66,000/- 
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b) Rs. 12,23,500/- 

c) Rs. 12,36,000/- 

d) Rs. 12,38,500/- 

 

,d izkfIr vkSj Hkqxrku [kkrs esa] etnwjh ds Hkqxrku Lo:i     

:- 12]51]000@& dh jkf’k fn[kkbZ nsrh gSA o”kZ ds izkjaHk esa vkSj 

var esa cdk;k etnwjh dze’k% :- 27]500@& vkSj           

:- 12]500@& gSA lacaf/kr vk; vkSj O;; [kkrs esa dkSu lh 

jkf’k izdV gksxhA 

 

a) :- 12]66]000@& 

b) :- 12]23]500@& 

c) :- 12]36]000@& 

d) :- 12]38]500@& 

 

41.  The most suitable method for providing depreciation on mines, oil wells and 

quarries is: 

 

a) Depletion method 

b) Annuity Method 

c) Straight Line Method 

d) Sinking fund Method 

 

[kku] rsy dwiksa vkSj [knkuksa ij ewY;gzkl yxkus dh lcls 

mi;qDr i)fr D;k gS\ 

 

a) fjDrhdj.k i)fr 

b) okf”kZdh i)fr 

c) lh/kh js[kk i)fr 

d) fu{ksi&fuf/k i)fr 

 

42.  Sales for the year ended 31st March 2022 amounted to ₹10,00,000. Sales included 

goods sold to Mr. A for ₹50,000 at a profit of 20% on cost. Such goods are still 

lying in the godown at the buyer’s risk. Therefore, such goods should be treated as 

part of: 

 

a) Closing Inventory 

b) Sales 

c) Goods-in-transit 

d) Purchases 

 

31 ekpZ] 2022 dks lekIr o”kZ dh fcdzh :- 10]00]000@& 

gSA bl fcdzh esa ykxr ij 20 izfr’kr ykHk ij Jh A dks cspk 
x;k :- 50]000@& dk lkeku Hkh ‘kkfey gSA ,slk lkeku dzsrk 

ds tksf[ke ij vHkh Hkh xksnke esa j[kk gqvk gSA blfy, ,sls 
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lkeku dks ---------- dk Hkkx ekuk tk,xk% 

 

a) var’ks”k eky& lwph 

b) fodz; fd;k gqvk 

c) lkeku ekxZLFk gS 

d) dz; fd;k gqvk 

 

43.  Which accounting concept states that expenses should be recorded in the same 

period as the revenues they help to generate? 

 

a) Accrual concept 

b) Matching concept 

c) Conservatism concept 

d) Cost concept 

 

dkSu lh ys[kkdj.k /kkj.kk ds vuqlkj [kpksZa dks mlh vof/k esa 

fjdkMZ fd;k tkuk pkfg, ftl nkSjku mu [kpksZa us jktLo iSnk 

djus esa lgk;rk dh gks\ 

 

a) izksn~Hkou /kkj.kk 

b) le:i /kkj.kk 

c) :f<+okn /kkj.kk 

d) Ykkxr /kkj.kk 

 

44.  The concept of conservatism when applied to the balance sheet results in: 

 

a) Understatement of Assets 

b) Overstatement of Assets 

c) Understatement of Capital 

d) Overstatement of Capital 

 

tc :f<+okn /kkj.kk rqyui= ij ykxw dh tkrh gS rks mlls % 

 

a) vkfLr;ksa dk U;wudFku gksrk gS 

b) vkfLr;ksa dk vf/kdFku gksrk gS 

c) iwath dk U;wudFku gksrk gS 

d) iwath dk vf/kdFku gksrk gS 

 

45.  A company paid ₹5,000 as wages for the installation of new machinery. What is 

the correct accounting treatment? 

 

a) Debit wages account 

b) Debit installation expenses account 

c) Debit machinery account 

d) Debit repairs and maintenance account 
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,d daiuh us ubZ e’khu ds izfr”Bkiu ds fy, :- 5]000@& dh 

etnwjh dk Hkqxrku fd;kA lgh ys[kkdj.k fof/k D;k gksxh\ 

 

a) etnwjh [kkrs dks MsfcV fd;k tkuk 

b) izfr”Bkiu [kpsZa ds [kkrs dks MsfcV fd;k tk,xk 

c) e’khujh [kkrs dks MsfcV fd;k tk,xk 

d) ejEer vkSj vuqj{k.k [kkrs dks MsfcV fd;k tk,xk 

 

46.  Which of the following is not a Capital Expenditure- 

(i) Amount spent on demolishing a building for construction of new building 

on the same site. 

(ii) Wages paid for Construction of Building. 

(iii)Depreciation on fixed asset. 

(iv) Amount spent on purchase of heavy machinery in which the Enterprise is 

Trading  

(v) Expenses incurred by a publisher for acquiring copyright. 

The correct alternative is- 

a) (i) & (ii)  

b) (ii) & (iii)  

c) (iv) & (v)  

d) (iii) & (iv) 

fuEufyf[kr esa ls iwWathxr O;; dkSu lk gS& 

(i) Lkeku LFkku ij u, Hkou ds fuekZ.k gsrq iqjkus Hkou dks 

u”V djus ij O;; dh xbZ jkf’kA 
(ii) Hkou ds fuekZ.k gsrq Hkqxrku dh xbZ etnwjhA 
(iii)LFkk;h vkfLr;ksa ij ewY;álA 
(iv) mn~;e ftl O;kikj esa lafyIr gS mlds fy, Hkkjh e’khujh 

ds Ø; ij [kpZ dh xbZ jkf’kA 

(v) izdk’kd }kjk LoRokf/kdkj vtZu gsrq mixr O;;A  

lgh fodYi gS& 

 

a) (i) vkSj (ii)  

b) (ii) vkSj (iii)  

c) (iv) vkSj (v) 

d) (iii) vkSj (iv) 

 

47.  A company using the accrual accounting system receives ₹1,00,000 cash in 

advance for a two-year contract to provide services. What is the correct journal 

entry when the cash is received, and how is revenue recognized over the life of the 

contract? 

a) The company will record the full ₹1,00,000 as revenue in the period 

received and not adjust for the unearned portion 
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b) The company will record ₹1,00,000 as unearned revenue (a liability), 

recognizing ₹50,000 in revenue each year over the contract’s term 

c) The company will record ₹1,00,000 as an asset and recognize ₹1,00,000 in 

revenue over two years 

d) The company will not recognize any revenue until the end of the contract 

 

izksn~Hko ys[kk iz.kkyh dk mi;ksx djus okyh ,d daiuh dks lsok,Wa 

iznku djus ds fy, nks o”khZ; vuqca/k gsrq vfxze :Ik ls :- 

1]00]000@& udn izkIr gksrs gSaA udn izkfIRk ij lgh tuZy 

izfof”V D;k gS] vkSj vuqca/k dh vof/k ds nkSjku jktLo dh 

igpku dSls dh tkrh gS\ 

 

a) daiuh izkIr vof/k esaa iwjs :- 1]00]000@& dks jkTkLo ds 
:Ik esa ntZ djsxh vkSj vuftZr fgLls ds fy, lek;kstu 

ugha djsxhA 

b) daiuh :- 1]00]000@& dks vuftZr jktLo ¼ns;rk½ ds :Ik 
esa ntZ djsxh rFkk vuqca/k dh vof/k ds nkSjku izR;sd o”kZ 

:- 50]000@& jktLo dks ekU;rk nsxhA 

c) daiuh :- 1]00]000@& dks ifjlaifŸk ds :Ik esa ntZ djsxh 
vkSj nks o”kksZa esa :- 1]00]000@& dk jktLo izkIRk djsxhA 

d) daiuh vuqca/k dh lekfIr rd dksbZ jktLo izkIr ugha 

djsxhA 
 

48.  The principle that ensures all expenses and incomes are recorded in the period they 

relate to, rather than when cash is paid or received, is called: 

 

a) Consistency Principle 

b) Prudence Principle 

c) Accrual Principle 

d) Dual Aspect Principle 

 

og fl)kar tks ;g lqfuf’pr djrk gS fd vk; vkSj O;; dks 

mlh dky[kaM esa fjdkWMZ fd;k tk,] fd ftlls og lacaf/kr gS( 

ctk; blds fd udn dk Hkqxrku ;k izkfIr dc gqbZ( rks mls -----

-- fl)kar dgrs gSaA 

 

a) lkeatL; fl)kar 

b) izwMWUl fl)kar 

c) izksn~Hkou fl)kar 

d) }Sr n`f”Vdks.k fl)kar 

 

49.  Sundry debtors of an entity is Rs 76,000/-. Provision for doubtful debts is 5% of 

sundry debtors. State which of the following is true- 

a) Rs 3,800/- will be shown as income in P&L account and Rs 3,800/- will be 
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deducted from sundry debtors in Assets in Balance sheet 

b) Rs 3,800/- will be shown as expense in P&L account and Rs 3,800/- will be 

deducted from sundry debtors in Assets in Balance sheet 

c) Rs 3,800/- will be shown as expense in P&L account and Rs 3,800/- will be 

added to sundry debtors in Assets in Balance sheet 

d) Rs 3,800/- will be shown as income in P&L account and Rs 3,800/- will be 

added to sundry debtors in Assets in Balance sheet 

fdlh ,afVVh dh vU;kU; _f.k :- 76]000@&gSA ‘kadkLin _.k 

O;oLFkk gsrq vU;kU; _.k dk 5% gSAfuEu esa ls dkSu lk dFku 
lR; gS& 

 

a) ykHk gkfu [kkrs esa :- 3]800@& dks vk; ds :Ik esa 
n’kkZ;k tk,xk vkSj rqyui= esa vkfLr;ksa esa vU;kU; _f.k 

ls :- 3]800@& dh dVkSrh dh tk,xhA 

b) ykHk gkfu [kkrs esa :- 3]800@& dks O;; ds :Ik esa 
n’kkZ;k tk,xk vkSj rqyu i= esa vkfLr;kas esa vU;kU; _f.k 

ls :- 3]800@& dh dVkSrh dh tk,xhA 

c) ykHk gkfu [kkrs esa :- 3]800@& dks O;; ds :Ik eas 
n’kkZ;k tk,xk vkSj rqyui= esa vkfLr;ksa esa vU;kU; _f.k 

esa :- 3]800@& dks tksM+k tk,xkA 

d) ykHk gkfu [kkrs esa :- 3]800@& dks vk; ds :Ik esa 
n’kkZ;k tk,xk vkSj rqyui= esa vkfLr;ksa esa vU;kU; _f.k 

esa :- 3]800@& dks tksM+k tk,xkA 

50.  Which of the following statement is true? 

a) Diminishing balance method of depreciation results in the same amount of 

depreciation every year 

b) Units of production method of depreciation results in the same amount of 

depreciation every year 

c) Straight-line method of depreciation results in the same amount of 

depreciation every year 

d) None of the aforesaid statements are true 

 

fuEufyf[kr esa ls dkSu lk dFku lR; gS\ 

 

a) ewY;gzkl dh ?kVrh ‘ks”k fof/k ds ifj.kkeLo:Ik izR;sd o”kZ 

ewY;gzkl dh jkf’k leku gksrh gSA 

b) mRiknu bdkb;ksa ds ewY;gzkl fof/k ds ifj.kkeLo:Ik izR;sd 

o”kZ leku ek=k esa ewY;gzkl gksrk gSA 

c) ewY;gzkl dh lh/kh &js[kk fof/k ds ifj.kkeLo:Ik izR;sd o”kZ 

ewY;gzkl dh jkf’k leku gksrh gSA 

d) mijksDRk esa ls dksbZ Hkh dFku lR; ugha gSA 
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51.  While preparing a trial balance, Ravi has posted a Bank Overdraft of Rs. 

2,00,000/- & Opening Stock of Rs. 1,50,000/-  in the debit side and also posted 

purchase return of Rs.2,00,000/- and sundry creditors of Rs.1,50,000/- on credit 

side, resulting in inaccurate trial balance preparation. What correction does the trial 

balance requires? 

 

a) The Opening Stock has to be posted to the credit side. 

b) The Bank Overdraft has to be posted to the credit side. 

c) Both, the purchase returns and sundry creditors are to be posted to the debit 

side. 

d) Only, purchase returns posting to be made on the debit side. 

 

‘ks”k ijh{k.k i= rS;kj djrs le; jfo us gq, :0 2]00]000@& 

dk vksojMªk¶V ,oa :0 1]50]000 ds vkajfHkd LVkWd dks MsfcV 

lkbM esa iksLV fd;k vkSj lkFk gh :0 2]00]000@& dh Ø; 

okilh ,oa :0 1]50]000@& ds fofo/k ysunkjksa dks ØsfMV lkbZM 

esa iksLV fd;kA urhtru xyr ‘ks”k ijh{k.k i= rS;kj gqvkA ‘ks”k 

ijh{k.k i= esa fdu lq/kkjksa dh vko’;drk gS? 
 

a) vkajfHkd LVkWd dks ØsfMV lkbZM esa iksLV fd;k tkuk gSA 

b) cSad vksojMªk¶V dks ØsfMV lkbZM esa iksLV fd;k tkuk gSA 

c) Ø; fooj.kh ,oa fofo/k ysnnkjksa nksuksa dks MsfcV lkbZM esa 

iksLV fd;k tkuk gSaA 

d) MsfcV lkbZM eas ek= Ø; okifl;ksa dks iksLV fd;k tkuk gSA 

 

52.  Which statement is not correct about operating profit 

a) Operating profit is the revenue a company generates in excess of the 

operational costs and depreciation & amortization recorded in an 

accounting period. 

b) it accounts for all the income and expenses stemming from an 

organization’s core business operations that are essential to keep the 

company functioning. 

c) It also includes any income or expense born out of ancillary activities like 

investments, loans, debts, etc.  

d) It presents a clear picture of a company’s efficiency, both administrative 

and managerial, in handling its core business operations. 

ifjpkyu ykHk ds ckjs esa dkSu lk dFku lgh ugha gS\ 

a) ifjpkyu ykHk og jktLo gS tks ,d daiuh fdlh ys[kk 

vof/k esa ntZ ifjpkyu ykxr vkSj ewY;gzkl ,oa ifj’kks/ku 

ls vf/kd vftZr djrh gSA 
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b) ;g fdlh laxBu ds eq[; O;olk; lapkyu ls mRiUUk lHkh 

vk; vkSj O;; dk ys[kk&tks[kk j[krk gS tks daiuh dks 

dk;Z’khy j[kus ds fy, vko’;d gSaA 

c) blesa fuos’k] _.k] dtZ vkfn tSlh lgk;d xfrfof/k;ksa ls 

mRiUUk dksbZ Hkh vk; ;k O;; Hkh ‘kkfey gSA  

d) ;g fdlh daiuh ds eq[; O;kolkf;d ifjpkyuksa dks 

laHkkyus esa mldh iz’kklfud vkSj izca/kdh; nksuksa izdkj dh 

n{krk dh Li”V rLohj izLrqr djrk gSA 

53.  Consider the following statement :-  

1) It shows the total cost of manufacturing the finished products and sets out 

in detail, with appropriate classifications, the constituent elements of such 

cost.  

2) It is debited with cost of materials, manufacturing wages and expenses 

incurred directly or indirectly on manufacture. 

3) It provides details of factory cost and facilites reconciliation of financial 

books with cost records  

4) if the output is carried to the Trading Account at market prices, 

manufacturing account discloses the profit or loss on manufacture.  

Choose the correct option:-  

a) Only 1 & 2  

b) Only 1 & 3  

c) Only 2 & 4  

d) All of the above  

 

fofuekZ.k [kkrs ds laca/k esa fuEufyf[kr dFku ij fopkj djsa%& 

1) ;g rS;kj mRiknksa ds fuekZ.k dh dqy ykxr dks n’kkZrk gS 

rFkk mfpr oxhZdj.k ds lkFk] ,slh ykxr ds ?kVd rRoksa dks 

foLrkj ls crkrk gSA 

2) blesa lekxzh dh ykxr] fofuekZ.k etnwjh vkSj fofuekZ.k ij 

izR;{k ;k vizR;{k :Ik ls fd, x, O;; dks MsfcV fd;k 

tkrk gSA 

3) ;g dkj[kkuk ykxr dk fooj.k iznku djrk gS vkSj ykxr 

fjdkWMZ ds lkFk foRRkh; iqLrdksa ds feyku dh lqfo/kk iznku 

djrk gSA 

4) ;fn mRiknu dks cktkj ewY; ij VªsfMax [kkrs esa ys tk;k 

tkrk gS] rks fofuekZ.k [kkr fofuekZ.k ij ykHk ;k gkfu dk 

[kqyklk djrk gSA 

lgh fodYi pqusa%& 

a) dsoy 1 vkSj 2 

b) dsoy 1 vkSj 3 

c) dsoy 2 vkSj 4 



Page 26 of 48 
 

d) mijksDr lHkh  

54.  Which one of the following will lead to understatement of net profit?  

 

a) Transfer of general reserve. 

b) Treating capital expenditure as revenue expenditure. 

c) Amortization of fictitious asset.  

d) Treating revenue expenditure as capital expenditure. 

 

fuEufyf[kr esa ls dkSu lk fodYi] ‘kq) ykHk ds U;wu dFku dk 

dkj.k cusxk\ 

 

a) lk/kkj.k vkjf{kfr dk varj.k 

b) iwathxr O;; dks jktLo O;; ekuuk 

c) dkYifud ifjlEifRr dk dzfed vikdj.k 

d) jktLo O;; dks iwathxr O;; ekuuk 

 

55.  Assets held for immediate conversion into money are known as  

 

a) Current Assets. 

b) Quick Assets. 

c) Intangible Assets. 

d) Tangible Assets. 

 

ifjlaifRr ftUgsa eqnzk esa rRdky laifjorZu djus ds fy;s j[kk 

tkrk gks] mUgsa ------- dgrs gSaA 

 

a) fuorZeku ifjlaifRr 

b) ‘kh?kz ifjlaifRr 

c) vewrZ ifjlaifRr 

d) ewrZ ifjlaifRr 

 

56.  If wages paid for installation of new machinery is debited to wages account, it is 

 

a) An error of commission. 

b) An error of principle 

c) A compensating error. 

d) An error of omission. 

 

;fn ubZ e’khujh izfr”Bkfir djus gsrq etnwjh dk Hkqxrku] 

et+nwjh [kkrk ls dj fn;k x;k gS] rks ;g ----------gSA 

 

a) tkucw> dj dh xbZ =qfV 

b) lS)kafrd =qfV 

c) izfrdj =qfV 

d) Hkwyo’k =qfV  
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57.  It is given in adjustment that during the accounting year, the trader distributed 

goods worth Rs. 5,000 as free samples. While preparing Final Accounts, this will 

be shown in 

 

a) Profit and Loss Account 

b) Both in Trading and Profit and Loss Account 

c) Trading Account 

d) None of the above 

 

;g lek;kstu esa fn;k x;k gS fd O;kijh us ys[kk o”kZ ds nkSjku 

:- 5]000@& dk eky uewus ds :i esa eq¶r forfjr fd;kA 

vafre [kkrs esa ;g fdlesa fn[kk;k tk,xk\ 

 

a) ykHk ,oa gkfu [kkrk esaA 

b) O;kikj [kkrk rFkk ykHk ,oa gkfu [kkrk nksuksa esa 

c) O;kikj [kkrk  

d) mijksDr esa ls dksbZ ugha 

 

58.  Closing Stock Rs. 53000/-, cost of goods sold is Rs. 85000/- and purchases are Rs. 

70000/-, what will be the value of opening stock from below: 

 

a) Rs. 68000/- 

b) Rs. 102000/- 

c) Rs. 38000/- 

d) Rs. 73000/- 

 

var LVkWd :- 53]000@&] fcds gq, eky dh ykxr         

:- 85]000@& rFkk [kjhn :- 70]000@&] fuEufyf[kr esa ls 

vkjafHkd LVkd dk ewY; D;k gksxk\ 

 

a) :- 68]000@& 

b) :- 1]02]000@& 

c) :- 38]000@& 

d) :- 73]000@& 

 

59.  A company developed a technology to enhance the battery life of mobile phones. 

The cost of development has been capitalized as an intangible asset at ₹5,00,000. 

The company estimates the life of the technology developed for 3 years. The 

company has forecasted that 50% of sales will be in year 1, 35% in year 2, and 

15% in year 3. What should be the amortization charge in the third year? 

 

a) ₹2,50,000 

b) ₹1,66,667 

c) ₹75,000 

d) ₹1,75,000 
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,d daiuh us eksckby Qksu dh cSVjh ykbQ c<+kus ds fy, ,d 

rduhd fodflr dh gSA fodkl ykxr dks :- 5]00]000@& dh 

vewrZ laifŸk ds :Ik esa iwathd`r fd;k x;k gSA daiuh us fodflr 

rduhd dh vof/k 3 o”kZ vuqekfur dh gSa daiuh us vuqeku 

yxk;k gS fd 50% fcØh igys o”kZ esa 35% nwljs o”kZ esa vkSj 

15% rhljs o”kZ esa gksxhA rhljs o”kZ esa ifj’kks/ku ‘kqYd fdruk 

gksuk pkfg,\  

a) :- 2]50]000@& 

b) :- 1]66]667@& 

c) :- 75]000@& 

d) :- 1]75]000@& 

60.  When the purchase day book of a firm is overcast, it will 

 

a) Increase gross profit and reduce net profit 

b) Reduce gross profit and increase net profit 

c) Reduce gross profit and as well as net profit 

d) Increase gross profit as well as net profit 

 

tc fdlh QeZ ds nSfudh dz; dks vksojdkLV dj fn;k tk,] rks 

blls& 

 

a) ldy ykHk&c<s+xk rFkk ‘kq) ykHk ?kVsxk  

b) ldy ykHk&?kVsxk rFkk ‘kq) ykHk c<s+xk 

c) ldy ykHk ds lkFk&lkFk ‘kq) ykHk ?kVsxk 

d) ldy ykHk ds lkFk&lkFk ‘kq) ykHk c<s+xk 

 

61.  Consider the following statement regarding suspense account : 

1. It allows a permanent  space for recording unambiguous transactions. 

2. It helps keep the accounts books organised by separating the unidentified 

transactions. 

Choose the correct option :-  

a) Only 1 is correct 

b) Only 2 is correct  

c) Both 1 & 2 are correct 

d) Neither of the above  

mparh [kkrs ds laca/k esa fuEufyf[kr dFku ij fopkj djsa% 

1- ;g Li”V ysunsu dks fjdkWMZ djus ds fy, ,d LFkk;h LFkku 
iznku djrk gSA 

2- ;g vKkr ysunsu dks vyx djds [kkrk cgh dks O;ofLFkr 
j[kus esa enn djrk gSA 

lgh fodYi pqusa%& 
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a) dsoy 1 lgh gS 

b) dsoy 2 lgh gS 

c) 1 vkSj 2 nksuksa lgh gS 

d) mijksDRk esa ls dksbZ ugha  

 

62.  Goods worth ₹3,000 returned by a customer were not recorded in the books. This 

is an example of: 

a) Error of principle 

b) Error of omission 

c) Error of commission 

d) Compensating error 

 

xzkgd }kjk okil fd;k x;k :- 3]000@& dh dher dk eky] 

cgh esa fy[kk ugha x;kA ;g mnkgj.k gS% 

 

a) lS)kafrd =qfV dk 

b) Hkwyo’k =qfV dk 

c) deh’ku dh =qfV dk 

d) {kfriwjd =qfV dk 

 

63.  Match the following errors with their descriptions: 

 

Column A Column B 

1. Error of Principle a. Debiting Furniture A/c instead of Rent 

A/c 

2. Error of Commission b. Crediting Mohan’s account instead of 

Sohan’s 

3. Error of Omission c. Not recording a purchase transaction 

4. Compensating Error d. Overstating purchases and understating 

sales 

 

a) 1-a, 2-b, 3-c, 4-d 

b) 1-b, 2-a, 3-d, 4-c 

c) 1-a, 2-d, 3-b, 4-c 

d) 1-c, 2-b, 3-a, 4-d 

 

fuEu =qfV;ksa dk muds fooj.k ds lkFk feyku djsa% 

 

dkWye ^,* dkWye ^ch* 

1- lS)kafrd =qfV a) fdjk;k [kkrs ds LFkku ij 

QuhZpj [kkrs dks MsfcV 

djuk 

2- deh’ku dh =qfV b) lksgu ds LFkku ij eksgu 

ds [kkrs dks dszfMV djuk 

3- Hkwy dh =qfV c) dz; ysu&nsu ds fooj.k 

dks ntZ u djuk 
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4- {kfriwjd =qfV d) dz; dks c<+kdj fy[kuk 

vkSj fodz; dks de djds 

fy[kuk 
 

a) 1-a, 2-b, 3-c, 4-d 

b) 1-b, 2-a, 3-d, 4-c 

c) 1-a, 2-d, 3-b, 4-c 

d) 1-c, 2-b, 3-a, 4-d 
 

64.  Trial balance is extracted after posting entries to ledger accounts in order to: 

 

a) Prepare balance sheet only 

b) Determine profit or loss 

c) Check arithmetical accuracy of books 

d) Rectify all types of errors 

 

[kkrk cgh esa izfof”V djus ds ckn------------- ds fy, ryiV rS;kj 

fd;k tkrk gS% 

 

a) flQZ rqyu&i= cukus ds fy, 

b) ykHk@gkfu dh tkudkjh ds fy, 

c) cfg;ksa dh xf.krh; ‘kq)rk tkapus ds fy, 

d) lHkh izdkj dh =qfV;ksa dks lq/kkjus ds fy, 

 

65.  Ramesh & Co. is preparing its trial balance. The totals are: 

• Debit side: ₹2,65,500 

• Credit side: ₹2,60,500 

On review, the following was found: 

i) Wages paid ₹5,000 were recorded only on the debit side. 

ii) Rent received ₹2,000 was recorded on both sides. 

iii) A sale of ₹3,000 was recorded in the purchases book. 

iv) Purchase of machinery ₹10,000 was debited to Purchases A/c. 

What type of error is responsible for the ₹5,000 difference in the trial balance? 

 

a) Error of omission 

b) One-sided error 

c) Compensating error 

d) Error of principle 

 

jes'k ,.M dEiuh viuk ryiV rS;kj dj jgh gSA dqy ;ksx gS% 

• MsfcV dh vksj% :- 2]65]500@& 

• dzsfMV dh vksj% :- 2]60]500@& 
iqujh{k.k djus ij fuEu tkudkjh izkIr gqbZ% 

i) Hkqxrku dh xbZ :- 5]000@& dh etnwjh] flQZ MsfcV 

dh vksj izfo”V dh xbZA 
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ii) :- 2]000@& dk izkIr fdjk;k] nksuksa vksj ntZ fd;k 

x;kA 

iii) :- 3]000@& ds fodz; dh izfof”V] dz; cgh esa dh 

xbZA 

iv) :- 10]000@& dh e’khu dk dze] dz; [kkrs esa 

MsfcV fd;k x;kA 

ryiV esa vk, :- 5]000@& ds varj ds fy, fdl izdkj dh 

=qfV ftEesnkj gS\ 

 

a) Hkwy dh =qfV 

b) ,d&i{kh; =qfV 

c) {kfriwjd =qfV 

d) lS)kafrd =qfV 

 

66.  Ritika Enterprises prepared the following Trial Balance before adjustments: 

 

Particulars Debit (₹) Credit (₹) 

Salaries 20,000  

Rent Received  12,000 

Furniture 50,000  

Capital  1,00,000 

 

Adjustments: 

i) Outstanding salary ₹5,000 

ii) Provide depreciation @ 10% on furniture 

iii) Rent received in advance ₹2,000 

 

What will be the adjusting journal entry for depreciation on furniture? 

 

a) Dr. Furniture ₹5,000, Cr. Profit & Loss ₹5,000 

b) Dr. Depreciation ₹5,000, Cr. Furniture ₹5,000 

c) Dr. Profit & Loss ₹5,000, Cr. Depreciation ₹5,000 

d) Dr. Depreciation ₹50,000, Cr. Furniture ₹50,000 

 

 

fjfrdk ,saVjizkbt~l us lek;kstu ls iwoZ fuEu ryiV rS;kj fd;k 

% 

fooj.k MsfcV 

¼:-½ 

dzsfMV 

¼:-½ 

osru 20]000@& & 

fdjk;k izkIr & 12]000@& 

QuhZpj 50]000@& & 

iwath & 1]00]000@& 
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lek;kstu% 

i) cdk;k osru] :- 5]000@& 

ii) QuhZpj ij 10 izfr’kr dh nj ls ewY;gzkl yxk,aA 

iii) :- 2]000@& dk vfxze fdjk;k izkIr fd;kA 

 

QuhZpj ij gzkl ds fy, lek;kstu tuZy izfof”V D;k gksxh\ 

 

a) QuhZpj MsfcV :- 5]000@&] ykHk@gkfu dzsfMV            

:- 5]000@& 

b) gzkl MsfcV :- 5]000@&] QuhZpj dzsfMV :- 5]000@& 

c) ykHk@gkfu MsfcV :- 5]000@&] gzkl dszfMV :- 5]000@& 

d) gzkl MsfcV :- 50]000@&] QuhZpj dszfMV :- 

50]000@& 

 

67.  A Trial Balance shows a debit total of ₹2,60,000 and a credit total of ₹2,50,000. 

After investigation, it was found that ₹10,000 received from a debtor was posted 

only to the debtor’s account. 

What is the correct impact of this error on the Trial Balance? 

 

a) Credit is understated by ₹10,000 

b) Debit is overstated by ₹10,000 

c) Credit is overstated by ₹10,000 

d) No impact on Trial Balance 

 

ryiV dqy :- 2]60]000@& dk MsfcV vkSj dqy            

:- 2]50]000@& dk dzsfMV iznf’kZr djrk gSA tkap ds ckn ;g 

ik;k x;k fd ,d nsunkj ls izkIr :- 10]000@& dh izfof”V 

flQZ nsunkj [kkrs esa dh xbZA 

 

a) dzsfMV :- 10]000@& de n’kkZ;k x;k gS 

b) MsfcV :- 10]000@& vf/kd n’kkZ;k x;k gS 

c) dzsfMV :- 10]000@& vf/kd n’kkZ;k x;k gS 

d) ryiV ij dksbZ izHkko ugha 

 

68.  If a cash payment of ₹2,500 towards stationery was not posted to the Stationery 

A/c but was correctly entered in the Cash Book, what type of error is this and what 

is its effect on the Trial Balance? 

 

a) Two-sided error; Trial Balance will still agree 

b) Error of commission; Trial Balance unaffected 

c) One-sided error; Trial Balance will show excess credit 

d) One-sided error; Trial Balance will show excess debit 

 

;fn LVs’kujh ds fy, fd;k x;k :- 2]500@& dk udn Hkqxrku 

LVs’kujh [kkrs esa ntZ ugha fd;k x;k ysfdu jksdM+ cgh esa lgh 

izfof”V dh x;h rks ;g fdl izdkj dh =qfV gS vkSj ryiV ij 
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bldk D;k izHkko gS\ 

 

a) nks&rjQk =qfV( ‘ks”k ijh{k.k i= fQj Hkh feyku [kk,xk 

b) deh’ku dh =qfV( ‘ks”k ijh{k.k i= vizHkkfor jgsxk 

c) ,d&rjQk =qfV( ‘ks”k ijh{k.k i= dzsfMV dh vf/kdrk 

fn[kk,xk 

d) ,d&rjQk =qfV( ‘ks”k ijh{k.k i= MsfcV dh vf/kdrk 

fn[kk,xk 

 

69.  Which of the following statements are TRUE? 

1. Omission of a transaction on both debit and credit sides does not affect the 

trial balance. 

2. Errors of principle affect the agreement of the trial balance. 

3. An error in totaling the Sales Book affects only the credit side of the Trial 

Balance. 

4. A Suspense Account is opened only for two-sided errors. 

Options: 

 

a) Only 1 and 4 are true 

b) Only 1 and 2 are true 

c) Only 1 and 3 are true 

d) All  are true 

 

buesa ls dkSu ls dFku lR; gSa\ 

1. MsfcV vkSj dzsfMV nksukas vksj dh xbZ laO;ogkj dh Hkwy] 

ryiV dks izHkkfor ugha djrh gSA 

2. lS)kafrd =qfV;ka] ryiV ds feyku dks izHkkfor djrh gSaA 

3. fodz;&cgh ds ;ksx dh =qfV ryiV ds flQZ dzsfMV i{k 

dks izHkkofr djrh gSA 

4. mpar [kkrk dsoy nks i{kh; =qfV;ksa ds fy, gh [kksyk 

tkrk gSA 

fodYi 

 

a) dsoy 1 o 4 lR; gSa 

b) dsoy 1 o 2 lR; gSa 

c) dsoy 1 o 3 lR; gSa 

d) lHkh lR; gSa 

 

70.  Which of the following accounts given below will be shown on the debit column 

of the trial balance? 

 

a) Prepaid expenses 

b) Bills payable 

c) Outstanding expenses 

d) Purchase Returns 
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fuEufyf[kr esa ls dkSu lk fodYi] ryiV ds MsfcV dkWye esa 

fn[kk;k tk,xk\ 

 

a) iwoZlanŸk O;; 

b) ns; fcy 

c) cdk;k [kpsZ 

d) dz; okilh 

 

71.  On scrutinizing the accounts of ABC Ltd, following errors were noticed. The trial 

balance was agreed by making suspense account. Observe the following detail:-  

(i) Sales book for the accounting period was over casted by Rs. 10,000 

(ii) A credit purchase of Rs. 4,000 was omitted to be recorded in the books of 

account. 

(iii)Rs. 6,000 received from XYZ Pvt. Ltd. has been credited in XYZ Pvt Ltd’s 

book as Rs. 5,000. 

(iv)  Purchase of Office equipment of Rs. 2,500 is entered in the trading 

purchase account. 

 

Based on the above details, while doing the rectification, the suspense account 

further will be– 

 

a) Credited by Rs. 9,000/-. 

b) Debited by Rs. 9,000/-. 

c) Credited by Rs. 10,000/-. 

d) None of the above. 

ABC fyfeVsM ds [kkrksa dh laoh{kk djus ij fuEufyf[kr =qfV;ak 
ikbZ xbZ] ;|fi ‘ks”k ijh{k.k fuyacu [kkrk ds vuqdwyFkk& 

(i) ys[kkdj.k vof/k ds fy, fodz; cgh 10]000@& :- ls 

vf/kdFkk]  

(ii) 4]000@& :- dh dzsfMV [kjhn cgh [kkrk esa vfHkysf[kr 

gksus ls NwV xbZ Fkh 

(iii)XYZ izkbosV fyfeVsM ls izkIr 6]000@& :-] XYZ izkbosV 

fyfeVsM ds [kkrs esa 5]000@& :- ds :Ik esa dzsfMV gq, gaSA 
(iv) 2]500@&:- ds dk;kZy; midj.k ds [kjhn dh izfof”V 

O;kikj [kjhn [kkrs esa dj nh xbZ gSA 

 

mi;ZqDr fofoj.k ds vk/kkj ij la’kks/ku djrs le;] fuyacu [kkrk 

iqu% gks tk,xk& 

 

a) :-9]000@& dk dzsfMV 

b) :-9]000@& dk MsfcV 

c) :-10]000@& dk dzsfMV 

d) mijksDr esa ls dksbZ ugha 
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72.  If the trial balance does not tally before preparation of profit and loss account and 

balance sheet even after efforts for rectifying errors, then: 

 

a) The preparation of profit and loss account and balance sheet is delayed till 

the difference is sorted out 

b) Profit and loss account and balance sheet is prepared by ignoring the errors. 

c) The difference is posted to suspense account. 

d) The accounts in which errors are noticed is removed from Trial Balance 

and profit and loss account and balance sheet is prepared. 

 

ykHk@gkfu [kkrk rFkk rqyuk i= ds cuus ls igys ;fn] =qfV;ksa 

dks lq/kkjus ds iz;klksa ds ckotwn Hkh] ryiV ds ‘ks”k dk feyku 

ugha gksrk gS] rks % 

 

a) ykHk@gkfu [kkrk rFkk rqyu i= dh rS;kjh rc rd ds 

fy, LFkfxr dh nh tkrh gS tc rd fd varj dk irk 

ugha py tkrkA 

b) =qfV;ksa dks utjvankt djrs gq, ykHk@gkfu [kkrk rFkk 

rqyu&i= rS;kj dj fn;k tkrk gSA 

c) varj dh izfof”V mpar [kkrs esa dj nh tkrh gSA 

d) =qfViw.kZ [kkrs dks ryiV ls gVk fn;k tkrk gS vkSj 

ykHk@gkfu [kkrk rFkk rqyuk i= rS;kj dj fn;k tkrk gSA 

 

73.  Which of the following errors do not affect the accuracy of Trial Balance? 

 

a) Recording an entry with a wrong amount in the journal. 

b) Wrong totaling of trial balance. 

c) Posting an amount on the wrong side of the ledger. 

d) Not including the balance of the account in the Trial Balance. 

 

fuEu esa ls dkSu lh =qfV;ka ryiV dh ‘kq)rk dks izHkkfor ugha 

djrh gSa\ 

 

a) jkstukepk esa xyr jkf’k ls izfof”V ntZ djuk 

b) ryiV dk xyr ;ksx 

c) [kkrk cgh ds xyr i{k esa jkf’k ntZ djuk 

d) ‘ks”k ijh{k.k i= esa [kkrs ds ‘ks”k dks ‘kkfey u djuk 

 

74.  According to _________concept the owner of the business is considered creditor 

of the business. 

 

a) Money measurement concept 

b) Dual aspect concept 

c) Separate entity concept 
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d) Going concern concept 

 

------------------- /kkj.kk ds vuqlkj O;olk; ds ysunkj dks O;olk; 

dk Lokeh ekuk tkrk gSA 

 

a) eqnzk ekiu /kkj.kk 

b) }Sr i{k /kkj.kk 

c) i`Fkd~ bdkbZ /kkj.kk 

d) pkyw leqRFkku /kkj.kk 

 

75.  Under the business entity concept, the owner's personal transactions are: 

 

a) Included with the business transactions 

b) Not recorded in the books of accounts 

c) Recorded under the liabilities 

d) Treated as revenue 

 

O;kikj bdkbZ /kkj.kk ds rgr] Lokeh ds futh laO;ogkj% 

 

a) O;olkf;d ysu&nsu esa ‘kkfey fd, tkrs gSa 

b) [kkrksa dh cfg;ksa esa ntZ ugha fd, tkrs gSa 

c) nkf;Roksa ds varxZr ntZ fd, tkrs gSa 

d) jktLo ds :i esa ekus tkrs gSa 

 

76.  Which of the following conventions requires that a business should anticipate all 

possible losses but not show profits unless they are realized? 

 

a) Consistency 

b) Prudence 

c) Matching 

d) Full Disclosure 

 

fuEu esa ls fdl ifjikVh esa ;g ekuk x;k gS fd ,d O;olk; 

dks lHkh laHko gkfu;ksa dk iwokZuqeku yxkuk pkfg, ysfdu tc 

rd ykHk dh olwyh u gks tk, rc rd mUgsa ykHk esa fn[kkuk 

ugha pkfg,\ 

 

a) lqlaxfr 

b) O;ogkj dq’kyrk 

c) lqesyu 

d) iw.kZ izdVhdj.k 

 

77.  Match the accounting concept with its correct description: 

Column A Column B 

1. Going Concern 
A) Transactions are recorded in monetary terms 

only 
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2. Accrual Concept 
B) Revenue is recognized when earned, expenses 

when incurred 

3. Money Measurement C) Business will continue operating indefinitely 

4. Consistency 

Principle 
D) Same accounting methods applied over time 

  

 

a) 1-C, 2-B, 3-A, 4-D 

b) 1-B, 2-A, 3-C, 4-D 

c) 1-D, 2-C, 3-B, 4-A 

d) 1-A, 2-D, 3-C, 4-B 

 

ys[kkadu vo/kkj.kk dk mlds lgh fooj.k ds lkFk feyku dfj,% 

 

dkWye ^,* dkWye ^ch* 

1. pkyw leqRFkku A) laO;ogkj dks dsoy ekSfnzd :i esa 

gh ntZ fd;k tkrk gSA 

2. miktZu vo/kkj.kk B) jktLo dks vftZr djus ij rFkk 

O;; mixr djus ij Lohdk;Z gSA 

3. eqnzk ekiu C) O;kikj vfuf’pr dky ds fy, 

fdz;k’khy jgsxkA 

4. fLFkjrk dk fl)kar D) ,d varjky rd] leku 

ys[kkdj.k iz.kkyh dk viuk;k tkuk 

 

a) 1-C, 2-B, 3-A, 4-D 

b) 1-B, 2-A, 3-C, 4-D 

c) 1-D, 2-C, 3-B, 4-A 

d) 1-A, 2-D, 3-C, 4-B 

 

78.  Which theory states that “for every debit, there is an equal and opposite credit”? 

 

a) The Concept of Money Measurement 

b) Accounting period concept 

c) The Concept of a Separate Entity 

d) The Concept of Dual Aspects 

 

dkSu lk fl)kar ;g crkrk gS fd ^^izR;sd MsfcV ds fy, ,d 

leku ,oa foijhr dzsfMV gksrk gS**\ 

 

a) eqnzk ekiu dh /kkj.kk 

b) ys[kkadu vof/k dh /kkj.kk 

c) i`Fkd bdkbZ dh /kkj.kk 

d) f}&i{kh; /kkj.kk 

 

79.  Which convention is also known as doctrine of prudence?  

 

a) Convention of consistency  
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b) Convention of full disclosure  

c) Convention of conservatism  

d) Convention of materiality  

 

dkSu lk vfHkle; ^^izKk ds fl)kar** ds :i esa tkuk tkrk gS\ 

 

a) laxrrk dk vfHkle; 

b) iw.kZ izdVhdj.k dk vfHkle; 

c) laj{k.krk dk vfHkle; 

d) HkkSfrdrk dk vfHkle; 

 

80.  Prepaid Expenses are shown as an asset due to  

 

a) Money measurement concept  

b) Business entity concept  

c) Going concern concept  

d) Matching concept  

 

iwoZ&lanŸk [kpZ] ifjlaifRr ds :i esa n’kkZ, tkrs gSa] bldk dkj.k 

gS& 

 

a) /ku ekiu ladYiuk 

b) O;olk; vfLrRo ladYiuk 

c) Pkkyw leRFkku ladYiuk 

d) feyku ladYiuk 

 

81.  Goods of the value of Rs. 15,000/- taken by the Proprietor for his personal use 

should be debited to:  

a) Purchases Account  

b) Sales Account  

c) Stock Account  

d) Drawing Account 

 

,d LoRo/kkjh }kjk Lo;a ds mi;ksx gsrq :- 15]000@& ds eky 

ewY; dks fdlesa fodfyr fd;k tk,xk\ 

 

a) [kjhn [kkrs esa 

b) fcdzh [kkrs esa 

c) LVkWd [kkrs esa 

d) vkgj.k [kkrs esa 

 

82.  Which of the following transactions is of a financial character and will be recorded 

in the business? 

 

a) Goods taken from the business by proprietor for his/her personal use 

b) Interviewing the candidates for employment 
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c) Sale of household furniture of Rs. 5,000 

d) Received an order for sale of goods 

 

fuEufyf[kr esa ls dkSu&lk ysu&nsu] ,d foRrh; ysunsu gS rFkk 

Ololk; esa vfHkysf[kr gksrk gS\ 

 

a) LoRo/kkjh }kjk O;olk; ls Lo;a mi;ksx ds fy, fy;k 

x;k eky 

b) jkstxkj ds fy, vH;fFkZ;ksa dk lk{kkRdkj 

c) ?kjsyw QuhZpj dh :- 5]000@& esa fcdzh 

d) Ekky dh fcdzh ds fy, ,d vkMZj dh izkfIr  

 

83.  Which of the following statements are true with regard to promissory notes? 

(i)  It should be property stamped  

(ii) The promise to pay must be conditional. 

(iii) The payee must sign the promissory note   

(iv) It should not made payable to bearer. 

(v) The sum payable must be certain. 

 

The correct alternative is: 

a) (i), (iii), (iv), and (v)  

b) (i), (iv), and (v) 

c) (ii), (iii), and (iv) 

d) (ii), (iv) and (v) 

opui= ¼izksfeljh uksV½ ds lanHkZ esa fuEufyf[kr esa ls dkSu lk dFku 

lR;@lgh gS\ 

(i) laifŸk LVkai dh gqbZ gksuh pkfg,A  

(ii) Hkqxrku djus dk opu l’krZ gksuk pkfg,A 

(iii) HkqxrkudrkZ ds opui= ij gLrk{kj vo’; djus pkfg,A  

(iv) ;g /kkjd dks Hkqxrku ;ksX; ugha gksuh pkfg,A  

(v) Hkqxrku ;ksX; jkf’k fu/kkZfjr gksuh pkfg,A  

lgh fodYi gS% 

a) (i), (iii), (iv) vkSj (v) 

b) (i),  (iv)  vkSj (v) 

c) (ii), (iii) vkSj (iv) 

d) (ii), (iv) vkSj (v) 

 

 

84.  M/s Future Ltd. has invested Rs. 10,000 in the shares of Relicam Industries Ltd. 

Current market value of these shares is Rs. 10,500. Accountant of Future Ltd. 

wants to show Rs. 10,500 as value of investment in the books of accounts, which 

accounting convention restricts him from doing so? 

 

a) Full disclosure  

b) Consistency 
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c) Conservatism  

d) Materiality 

 

eSllZ ¶;wpj fyfeVsM us jsfydSe baMLVªht fyfeVsM ds         

:- 10]000@& ewY; ds ‘ks;j [kjhnsA bu ‘ks;jkas dk orZeku 

cktkj ewY; :- 10]500@& gSA ¶;wpj fyfeVsM dk ys[kkdkj    

:- 10]500@& fuos’k ewY; ds :i esa ys[kk cgh esa n’kkZuk 

pkgrk gSa] rks dkSu lk ys[kk vfHkle; mls ,slk djus ls ckf/kr 

djrk gS\ 

 

a) iw.kZ izdVhdj.k 

b) fLFkjrk 

c) laj{k.krk 

d) HkkSfrdrk 

 

85.  Mr Avinash  is a doctor working in M/s Apollo hospital and he receives Tax deduction 

certificate of Rs.14,00,000/- from the employer M/s Apollo hospital whereas he receives 

only Rs.12,00,000/- through banking channel for the year ended 31st March 2025. When 

the return of income is filed, he offers only Rs. 12,00,000/- as his annual income. Mr. 

Avinash has offers his annual income as per the following accounting system. 

 

a) Mercantile system of accounting. 

b) Hybrid system of accounting. 

c) Cash system of accounting. 

d) Mercantile system of accounting from April 2024 to September 2024 and cash 

system of accounting from October 2024 to March 2025. 

Jheku vfouk’k ,d MkWDVj gS vkSj eSllZ viksyks vLirky esa dk;ZjÙk gS 

vkSj mlds fu;ksDrk eSllZ viksyks vLirky ls mUgsa 14]00]000@& :0 dh 

vk; ij dj dVkSrh dk izek.ki= izkIRk gqvk gS] tcdh cSfdax ds ek/;e ls 

mls 31 ekpZ] 2025 dks lekIr o”kZ ds fy, dsoy 12]00]000@& :0 

izkIr gq, gSA vk; dh fooj.kh nkf[ky djrs le; og viuh okf”kZd vk; 

12]00]000@& :0 n’kkZrk gSA Jheku vfouk’k us fuEufyf[kr ys[kk i)fr 

ds ek/;e ls viuh vk; n’kkZ;h gSA  

a) O;kikfjd ys[kk i)frA 

b) fefJr ys[kk i)frA 

c) udn ys[kk i)frA  

d) vizSy] 2024 ls flrEcj] 2024 rd O;kikfjd ys[kk i)fr ls 

vkSj vDVwcj] 2024 ls ekpZ] 2025 rd udn ys[kk i)fr lsA 

 

86.  Cost of Goods Manufactured is determined by  

 

a) Financial Accounting  

b) Cost Accounting 

c) Management Accounting  

d) Human Resource Accounting 

 

eky fofuekZ.k dh ykxr fdlds }kjk fuf’pr dh tkrh gS\ 
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a) foRrh; ys[kkdj.k 

b) ykxr ys[kkdj.k 

c) izca/k ys[kkdj.k 

d) ekuo lalk/ku ys[kkdj.k 

 

87.  In a Trial Balance prepared by X Ltd, Sales less returns is shown as ₹24,90,000 

and below is, as an information it is said that Stock-in-hand was ₹3,10,000 as on 

31.03.2024.  Ramesh, the accountant passed the following Journal entries before 

preparing the Trading or Profit and Loss Account.  Choose the correct Journal 

entry –  

 

a) Trading account              Dr  ₹28,00,000 

         To Sales account                                     ₹24,90,000 

          To Stock-in-hand                                   ₹  3,10,000 

b) Sales account                   Dr.  ₹24,90,000 

Stock-in-hand             Dr.  ₹  3,10,000 

         To Trading account                                 ₹28,00,000 

c) Sales account                    Dr.  ₹ 3,10,000 

         To Stock-in-hand                                     ₹ 3,10,000 

d) Stock-in-hand                  Dr.  ₹24,90,000 

         To Sales account                                      ₹24,90,000 

,Dl fyfeVsM }kjk rS;kj fd, x, Vªk;y cSysal esa] fcØh ?kVk 

fjVuZ :- 24]90]000@& fn[kk;k x;k gS vkSj uhps nh xbZ 

tkudkjh ds vuqlkj] fnukad 31-03-2024 dks LVkWd&bu&gSaM :- 

3]10]000@& FkkA ys[kkdkj jes’k us VªsfMax ;k ykHk&gkfu [kkrk 

rS;kj djus ls igys fuEufyf[kr tuZy izfof”V;kWa dhA lgh tuZy 

izfof”V pqusa& 

a) VªsfMax [kkrs  MsfCkV :- 28]00]000@&  

   fcØh [kkrs esa  :- 24]90]000@&  

   LVkWd&bu&gSaM ds fy, :- 3]10]000@& 

 

b) fcØh [kkrk MsfcV :- 24]90]000@&  

    LVkWd&bu&gSaM :- 3]10]000@&  

     VªsfMax [kkrs  esa :- 28]00]000@&  

c) fcØh [kkrk MsfcV :- 3]10]000@&  

    LVkWd&bu&gSaM :- 3]10]000@&  

      

d) LVkWd&bu&gSaM MsfcV :- 24]90]000@&  

   fcØh [kkrk esa :- 24]90]000@& 

88.  Consider the following statements about single entry system and double entry 

system and choose the correct answers. 

(i) Single entry is unscientific method of accounting while double entry is 

scientific. 

(ii) Single entry can ascertain profit or loss approximately while double entry can 
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ascertain accurately. 

(iii) Single Entry cannot have trial balance while double Entry can have trial 

balance. 

(iv) Single Entry is suitable only for small concerns such as sole proprietorship. 

 

 

a) All statements are false. 

b) Only (ii), (iii) and (iv) are true. 

c) Only  (iii) and (iv) are false. 

d) All statements are true. 

,dy izfof”V iz.kkyh ,oa nksgjh izfof”V iz.kkyh ds ckjs esa uhps 

fn;s x, dFkuksa ij fopkj dhft, ,oa lgh mRrj dk p;u djsa % 

(i) ,dy izfof”V ys[kk ,d voSKkfud fof/k gS tcfd nksgjh 

izfof”V oSKkfud gSA 

(ii) ,dy izfof”V] ykHk ;k gkfu dks lfUudVrk ls 

vfHkfuf’pr djrh gS tcfd nksgjh iz.kkyh ifj’kq)rk lsA 

(iii) ,dy izfof”V esa ‘ks”k ijh{k.k i= ¼Vªk;y cSysal½ ugha 

gksrk tcfd nksgjh izfof”V esa ‘ks”k ijh{k.k i= gksrk gSA 

(iv) ,dy izfof”V NksVs O;olk;ksa] tSls fd ,dy LoRo/kkjh ds 

fy, mi;qZDr gksrk gSA 

 

a) lHkh dFku vlR; gSa 

b) dsoy (ii), (iii) vkSj (iv) lR; gSa 

c) dsoy (iii) vkSj (iv) vlR; gaS 

d) lHkh dFku lR; gSa 

 

89.  A company receives Rs. 10,000/- from a debtor. How will this transaction impact 

the accounting equation, if no other transaction occurs? 

 

a) Assets increase by Rs. 10,000, Liabilities decrease by Rs. 10,000 and 

capital remains unchanged. 

b) Assets remain unchanged, Liabilities decrease by Rs. 10,000 and capital 

increase by Rs. 10,000. 

c) One asset (cash) increases by Rs. 10,000 while another asset (Account 

receivable) decreases by Rs. 10,000, with no impact on Liabilities or 

capital. 

d) Assets increase by Rs. 10,000 and capital remains unchanged. 

,d daiuh ,d _.kh ls :- 10]000@& izkIr djrh gSA ;fn 

blds vykok vU; dksbZ ysu&nsu ugha gksrs gSa] rks ;g ysu&nsu 

ys[kk lehdj.k dks fdl izdkj izHkkfor djsxk\ 

 

a) ifjlaifRr;ka :- 10]000@& c<+sxh vkSj ns;rk,a       

:- 10]000@& de gksxh rFkk iwath esa dksbZ ifjorZu 
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ugha gksxk 

b) ifjlaifRr;ks esa dksbZ cnyko ugha gksxk] ns;rk,a       

:- 10]000@& de gksaxh rFkk iwath :- 10]000@& 

c<+sxh 

c) ,d ifjlaifRr ¼jksdM+½ :- 10]000@& c<s+xh tcfd 

nwljh ifjlaifRr ¼izkfIr ;ksX; ys[kk½ :- 10]000@& 

?kVsxh vkSj ns;rkvksa vFkok iwath ij dksbZ izHkko ugha 

iM+sxk 

d) ifjlaifRr;ka :- 10]000@& c<+sxh vkSj iwath esa dksbZ 

ifjorZu ugha gksxk 

 

90.  Which of the following is true about liabilities in the double-entry system? 

a) Liabilities represent claims against the company’s assets.  

b) Liabilities are not recorded in the balance sheet. 

c) Liabilities are always increased with a debit entry. 

d) Liabilities reduce the company’s equity. 

nksgjh&izfof”V iz.kkyh esa nsunkjh ds laca/k esa fuEu esa ls dkSu&lk 

dFku lR; gS\ 

 

a) nsunkfj;ka] fdlh daiuh dh ifjlaifRr ds izfr nkos dks 

n’kkZrh gSA 

b) nsunkfj;ka] rqyu&i= esa vfHkfyf[kr ugha dh tkrh gSA 

c) nsunkfj;ka] MsfcV izfof”V ds lkFk ges’kk c<+rh gSaA 

d) nsunkfj;ka] daiuh dh bfDoVh dks de djrh gSaA 

 

91.  Which of the following statements is incorrect regarding the accounting equation? 

(i) Accounting equation must always balance after every transactions. 

(ii) Drawings by the owner decreases both assets and capital. 

(iii) If expenses increase, liabilities must also increase. 

(iv) Increase in assets must be balanced by an equal increase in liabilities or 

capital. 

 

Options  

 

a) (i), (ii), (iii) & (iv) 

b) (iii) & (iv) 

c) Only (ii) 

d) Only (iii) 

ys[kkfof/k lehdj.k ds laca/k esa fuEufyf[kr esa ls dkSu&lk dFku 

vlR; gS\ 

(i) izR;sd ysunsu ds ckn ys[kkfof/k lehdj.k larqfyr gksuh 

pkfg,A 

(ii) Lokeh }kjk vkgj.k] iwath rFkk ifjlaifRr nksuksa dks de dj 

nsrk gSA 
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(iii) ;fn [kpsZ c<+rs gSa rks] nsunkjh Hkh c<+uh pkfg;saA 

(iv) ifjlaifRr;ksa dh c<+ksrjh dks nsunkjh vFkok iwath esa leku 

c<+ksrjh ls larqfyr fd;k tkuk pkfg,A 

fodYi 

 

a) (i), (ii), (iii) o (iv) 

b) (iii) o (iv) 

c) dsoy (ii) 

d) dsoy (iii) 

 

92.  Which of the following transactions affects only real accounts? 

a) Cash withdrawn from bank for  office use.  

b) Goods sold on credit.  

c) Payment of commission to an agent. 

d) Rent paid to the landlord. 

fuEufyf[kr esa ls] ysunsu dsoy okLrfod [kkrksa dks izHkkfor 

djrk gS\ 

a) dk;kZy;h mi;ksx ds fy, cSad ls fudkyh xbZ udn 

jkf’k 

b) m/kkj ij csph xbZ oLrq,a 

c) ,tsaV dks nh xbZ deh’ku dh jde 

d) edku ekfyd dks fn;k x;k fdjk;k 

 

93.  Even if the Trial Balance does not tally due to the existence of ___________, an 

accountant has to carry forward his accounting process and prepare financial 

statements and he/she tallies his Trial Balance by putting the difference on the 

_____________ side as ____________account.   

Fill in the blanks with the 3 hints given below: 

 

a) Both-side errors , larger , Temporary account 

b) Quick errors , both , Permanent account 

c) One-sided errors , shorter , Suspense account 

d) Both-side errors , larger , Suspense account 

;fn ------- ds vfLrRo ds dkj.k ijh{k.k larqyu esy ugha [kkrk 

gS] rks Hkh ,d ys[kkdkj dks viuh ys[kkadu izfØ;k dks vkxs 

c<+kuk gksxk vkSj foRRkh; fooj.k rS;kj djuk gksxk vkSj og ----- 

[kkkrs ds :Ik esa ----------- i{k ij varj Mkydj vius ijh{k.k 

larqyu dk feyku djrk gSA 

uhps fn, x, 3 ladsrks ls fjDr LFkku Hkjsa% 

a) nksuksa rjQ dh =qfV;kWa] cM+k] vLFkk;h [kkrkA 

b) Rofjr =qfV;kWa] nksuksa] LFkk;h [kkrkA 

c) ,drjQk =qfV;kWa] laf{kIr] lLisal [kkrkA 

d) nksuksa rjQ dh =qfV;kWa]cM+k] lLisal [kkrkA 
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94.  A customer returns goods to a supplier. How does the supplier record this in his 

ledger? 

a) Customer A/c Dr. 

               Purchase Returns A/c. Cr. 

b) Customer A/c Dr. 

              Sales Return A/c. Cr. 

c) Purchase Return A/c Dr. 

                 Customer A/c. Cr. 

d) Sales Return A/c Dr.  

               Customer A/c. Cr.   

 

,d xzkgd vkiwfrZdrkZ dks lkeku okil ykSVk nsrk gSA vkiwfrZdrkZ 

bls vius [kkrs esa dSls ntZ djsxk\ 

 

a) xzkgd [kkrk MsfcV]  

   dz; okilh [kkrk dzsfMV 

b) xzkgd [kkrk MsfcV]  

    fcdzh okilh [kkrk dzsfMV 

c) dz; okilh [kkrk MsfcV]  

    xzkgd [kkrk dzsfMV 

d) fcdzh okilh [kkrk MsfcV] 

    xzkgd [kkrk dzsfMV 

 

95.  An accountant receives ₹12,000 from a customer, correctly recorded in the Cash 

Book, but the amount was not posted to the customer's account in the ledger. 

What is the rectifying journal entry for this one-sided error? 

 

a) Dr. Customer ₹12,000 

b) Dr. Suspense A/c ₹12,000, Cr. Customer A/c ₹12,000 

c) Dr. Customer A/c ₹12,000, Cr. Suspense A/c ₹12,000 

d) Dr. Suspense A/c ₹12,000, Cr. Cash A/c ₹12,000 

 

,d ys[kkdkj] xzkgd ls :- 12]000@& izkIr djrk gS] udn 

iqfLrdk esa lgh ls ntZ djrk gS] ysfdu xzkgd ds cgh [kkrs esa 

jde dh izfof”V ugha gksrh gSA bl ,d&rjQk =qfV ds fy, lq/kkj 

tuZy izfof”V D;k gksxh\ 

 

a) xzkgd dks :- 12]000@& MsfcVA 

b) mpar [kkrs esa :- 12]000@& MsfcV] xzkgd [kkrs esa    

:- 12]000@& dzsfMV 

c) xzkgd [kkrs esa :- 12]000@& MsfcV] mpar [kkrs esa    

:- 12]000@& dszfMV 

d) mpar [kkrs esa :- 12]000@& MsfcV] udn [kkrs esa    

:- 12]000@& dszfMV 
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96.  When a mistake is committed while totalling the subsidiary book, it is called an 

____________ 

 

a) Error of Casting 

b) Error of carrying forward 

c) Error of posting 

d) Error of principle 

 

lgk;d cgh esa dqy ;ksx djrs le; dh xbZ =qfV dks ------------- 

dgk tkrk gSA 

 

a) laR;dru dh =qfV 

b) vxzsuhr djus dh =qfV 

c) ntZ djus laca/kh =qfV 

d) lS)kafrd =qfV 

 

97.  On 31 July, X's bank statement shows a balance at bank of Rs. 2500, but the 

cashbook shows balance at bank of Rs. 1750. X finds cheques totaling Rs. 750 

have not been presented for payment. Which bank balance figure will appear in X's 

balance sheet on 31 July? 

 

a) Rs. 1000/- 

b) Rs. 1750/- 

c) Rs. 2500/- 

d) Rs. 3250/- 

 

fnukad 31 tqykbZ dks] X ds cSad [kkrk fooj.k esa :- 2]500@& 
dh ‘ks”k jkf’k gS] ysfdu cSad dh udn&iqfLrdk esa :- 1]750@& 

dh jkf’k ‘ks”k fn[kkrk gSA X dks irk pyrk gS fd :- 750@& 

pSd Hkqxrku ds fy, izLrqr ugha fd, x,A 31 tqykbZ dks X ds 

rqyu&i= esa dkSu lh jkf’k fn[kkbZ nsxh\ 

 

a) :- 1]000@& 

b) :- 1]750@& 

c) :- 2]500@& 

d) :- 3]250@& 

 

98.  A firm has reported a profit of Rs.1,47,000/- for the year ended 31-3-2024 after 

taking into  

consideration the following items. 

i) The cost of an asset Rs.23,000/- has been taken as an expense  

ii) The firm anticipated a profit of Rs.12,000/- on the sale of an old furniture  

iii) Salary of Rs.7,000/- outstanding for the year has not been taken into 

account.  

iv) An asset of Rs.85,000/- was purchased for Rs.75,000/- and was recorded in 

the books at Rs.85,000/-. What is the correct amount of profit to be 
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reported in the books?  

 

a) Rs.1,47,000/-  

b) Rs. 1,51,000/- 

c) Rs.1,63,000/-  

d) Rs.1,41,000/- 

 

fuEufyf[kr enksa ds vkyksd esa] ,d QeZ us fnukad 31-03-

2024 dks lekIr o”kZ ds fy, :- 1]47]000@& dk equkQk ntZ 

fd;k% 

i) ,d ifjlaifRr dh :- 23]000@& dh ykxr dks [kpZ eku 

fy;k x;kA 

ii) iqjkus QuhZpj dh fcdzh ls QeZ us :- 12]000@& ds 

equkQs dk vuqeku yxk;kA 

iii) bl lky ds fy, cdk;k :- 7]000@& ds osru dks ugha 

tksM+k x;k gS 

iv) :- 85]000@& dh ,d ifjlaifRr dks :- 75]000@& esa 

[kjhnk x;k rFkk :- 85]000@& ntZ dj fy;k x;k FkkA 

cfg[kkrs esa ntZ gksus okyh ykHk dh lgh jkf’k fdruh 

gksxh\ 

 

a) :- 1]47]000@& 

b) :- 1]51]000@& 

c) :- 1]63]000@& 

d) :- 1]41]000@& 

 

99.  A company receives a five-star rating from a satisfied customer. According to the 

accounting principles, is this incident required to be recorded in the financial 

statements? 

 

a) Yes, it should be recorded as an increase in goodwill 

b) No, it should not be recorded as it is an intangible asset 

c) No, it should not be recorded as it does not involve a monetary transaction 

d) Yes, it should be recorded as an asset being a tool to measure performance 

of the company 

 

,d daiuh vius ,d larq”V xzkgd ls ikap&flrkjk jsfVax izkIr  

djrh gSA ys[kk’kkL= fl)karksa ds vuqlkj] D;k ;g ?kVuk foRrh; 

fooj.k esa ntZ dh tkuh pkfg,\ 

 

a) gka] bls ln~Hkkouk esa o`f) ds rkSj ij ntZ fd;k tkuk 

pkfg, 

b) ugha] bls ntZ ugha fd;k tkuk pkfg, D;ksafd ;g ,d 

vLi`’kh; ifjlaifRr gSA 

c) ugha] bls ntZ ugha fd;k tkuk pkfg, D;ksafd blesa dksbZ 

iSls dk ysunsu ‘kkfey ugha gSA 
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d) gka] bls ifjlaifRr ds rkSj ij ntZ fd;k tkuk pkfg, 

D;ksafd ;g daiuh ds izn’kZu dks ekius dk ,d ;a= gSA 

 

100.  Consider the following data pertaining to Alpha Ltd.: 

Particulars ₹ 

Cost of Machinery Purchased on 1st 

April 2021 

10,00,000 

Installation Charges 1,00,000 

Market Value as on 31st March 2022 12,00,000 

 

While finalizing the annual accounts, if the company values the machinery at 

₹12,00,000. Which of the following concepts is violated by the Alpha Ltd.? 

 

a) Matching 

b) Accrual 

c) Cash 

d) Cost 

 
 

vYQk fyfeVsM ds laca/k esa fuEufyf[kr MkVk dk fopkj djsa% 

fooj.k 

 

:- 

fnukad 1 vizSy] 2021 dks [kjhnh xbZ 

e’khujh dh ykxr 

 

:- 

10]00]000@& 

izLFkkiu dh ykxr 

 

:- 1]00]000@& 

fnukad 31 ekpZ] 2022 dks cktkj&dher 

 

:- 

12]00]000@& 

 

okf"kZd ys[kk&tks[kk lqfuf’pr djrs le;] ;fn daiuh e’khujh dh 

dher :- 12]00]000@& ekurh gS rks] vYQk fyfeVsM }kjk 

dkSu ls fl)kar dk guu gksrk gS\ 

 

a) feyku dk 

b) izksn~Hkou dk 

c) udn dk 

d) ykxr dk 

 

 

 

***** 


